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Question Number : 1 Question Id : 54062624275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
After arranging the given words according to dictionary order, which word will come at ‘fourth’ position?

1. DEPUTY
2. DEPENDS
3. DENTAL
4. DENIES

5. DECISION

Options :

1. * DENTAL
2. % DEPUTY
3. * DENIES



4. ¥ DEPENDS

Question Number : 1 Question Id : 54062624275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 71U X3l ) MDY & TR TR HRA & YT, DI 1 Teg T R TR ST

1. DEPUTY
2. DEPENDS
3. DENTAL
4. DENIES

5. DECISION

Options :

1. # DENTAL
2. % DEPUTY
3. # DENIES
4. ¥ DEPENDS

Question Number : 2 Question Id : 54062624276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

QH, RL, SP, TT, ?
Options :
1. ¥ WZ
2. % VX
3. % YV
4. ¥ UX

Question Number : 2 Question Id : 54062624276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TH 3IhH a1 a1 8, fo s ¥ U Ug @ ¢ | AU 77T fawed! & 3 98 el fddwed 9T, STt Sigshd &1 I |

QH, RL, SP, TT, ?
Options :
1. # WZ
2. % VX
3. % YV
4. ¥ UX

Question Number : 3 Question Id : 54062624277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

QJ25, OF19, MB13, KX30, IT27
Options :

1. # IT27

2. % OF19

3. ¥ MBI13

4. ¥ KX30

Question Number : 3 Question Id : 54062624277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UH 3 faar man ], for s ¥ U Ue Tad ¢ | fou U faswedl # ¥ 39 7ad U &l giu|

QJ25, OF19, MB13, KX30, IT27
Options :

1. # IT27

2. % OF19

3. % MBI13

4, ¥ KX30



Question Number : 4 Question Id : 54062624278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd word pair from the given alternatives.
Options :

1. ¥ Garment — Pen

2. # Furniture — Chair

3. % Reptile — Snake

4. % Bird — Ostrich

Question Number : 4 Question Id : 54062624278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy # i e fowedl 7 9 fawd Tsg g &1 9T
Options :

1. ¢ TRAC - HeH

2. % TR — Pl

3. % WY -9

4. % geft — @

Question Number : 5 Question Id : 54062624279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four letter pairs are given. The letters on left side of (—) is related to the letters on the right side of (—) with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :

1. % QMF - JNU
2. ¥ RSA - IHY

3. % AED -ZVW
4. % NRT - MIG

Question Number : 5 Question Id : 54062624279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

R feu T vy B, IR 31eR I AU U § 1 (1) & ST SR 3T T 31eR () F ot 3R oA T 31eR F ft adh fm/Aey I et g1 =
I TH qh/Mar/AEY & YR IR 99 g | 3T T8 fawen & ¥ fawd &1 g

Options :

1. # QMF — JNU

2. % RSA —IHY

3. % AED-ZVW

4. # NRT - MIG

Question Number : 6 Question Id : 54062624280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd letter/letters from the given alternatives.
Options :

1. # LIFX

2. % DBXP

3. % WUQI

4. ¥ AYVN

Question Number : 6 Question Id : 54062624280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferfad uy o fau e fasedt & 4 faww ser/siarl o1 gl
Options :

1. # LIFX

2. % DBXP

3. #* WUQI

4. % AYVN

Question Number : 7 Question Id : 54062624281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related words from the given alternatives.

Red : Colour :: Sharpener : ?
Options :

1. ¥ Stationery

2. # Pencil

3. % Car

4. # Sharp

Question Number : 7 Question Id : 54062624281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve # fau e fawed # ¥ Tefia wsa! &1 g
TS - 7 2 WMUAR - 2

Options :

1. ¢ -l
2. % URy

3. % PR

4. % U1

Question Number : 8 Question Id : 54062624282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related word pair from the given alternatives.

Rodent : Rat :: ?
Options :

1. # Elephant : Mammal
2. % Tiger : Reptile

3. ¥ Reptile : Lizard

4. % Mammal ;: Snake



Question Number : 8 Question Id : 54062624282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforiad oy & fau e fawedl & § Haifta Trsg g™ &1 gfu|
b : gl =2 ?

Options :

1. % Il . Ot
Z.QW:W

3. ¢ WYY : fsuddl
4. % T : 99

Question Number : 9 Question Id : 54062624283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter pair from the given alternatives.

TRAP : UGYB :: ?
Options :

1. # ROPL : PVVZ
2. ¥ GAME : JSHO
3. # TEAR : WHLB
4. ¥ MAID : IOHV

Question Number : 9 Question Id : 54062624283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRafaRad vy @ fau e faswedl B 9 Hefdd 3ieR g &1 gHu|

TRAP : UGYB :: ?
Options :
1. ¥ ROPL : PVVZ



2. ¥ GAME : JSHO
3. ¥ TEAR : WHLB
4. % MAID : IOHV

Question Number : 10 Question Id : 54062624284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘INMATE’ is written as ‘JXFQSM’. What is the code for ‘RENTAL’ in that code language?
Options :

1. # QEYRVIJ

2. % QEYJRV

3.+ QEYRJV

4. ¥ QYERJV

Question Number : 10 Question Id : 54062624284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U ARy ®Ig UV H, INMATE’ &Y <JXFQSM’ foraT SITdT 81 9 IS HINT H ‘RENTAL’ &1 HIS &1 52
Options :

1. # QEYRVIJ

2. % QEYJRV

3. % QEYRIV

4. ¥ QYERJV

Question Number : 11 Question Id : 54062624285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘Beat around the bush’ is written as ‘9 4 8 3°, ‘The bush are long’ is written as ‘8 3 7 5. What is the code for ‘bush
the’ in that code language?

Options :
1.¥83
2.%95



3.% 47
4. %58

Question Number : 11 Question Id : 54062624285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wﬁﬁl@ﬂ'ﬂg 'J-ﬂtﬂﬁ, ‘Beat around the bush’ @1 9 4 § 3’ %@Gﬂ?ﬂ%, ‘The bush are long’ PI8375 %ET\_SITHT%I Eﬂa’ﬂ—éWﬁ ‘bush
the’ BT HIS T 52

Options :

1.¥83

2.%95

3.% 47

4. % 58

Question Number : 12 Question Id : 54062624286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘FEELINGS’ is written as “YLRLRJII’. What is the code for ‘/REACTION’ in that code language?
Options :

1. ¥ TTIFMWIU

2. % TTMWIFIU

3. ¥ TTFIWMIU

4. % TTIUMWIF

Question Number : 12 Question Id : 54062624286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U ARy &Ys HIWT & FEELINGS’ & YLRLRIJII® foRaT SITdT 81 39 IS HIST H ‘REACTION’ &1 HIS T 82
Options :

1. ¥ TTIFMWIU

2. ¥ TTMWIFIU

3. ¥ TTFIWMIU



4. % TTIUMWIF

Question Number : 13 Question Id : 54062624287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘ROBUST’ is written as ‘719621218, “TRANGT” is written as ‘77131920°. What is the code for ‘GOCSUM’ in that
code language?

Options :

1. % 142138127
2.9 142183127
3. % 142183217
4. % 141283127

Question Number : 13 Question Id : 54062624287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fAfRIY PHIe HIWT H, ‘ROBUST’ BT 719621218 foRaT ST 8, “TRANGT’ & <77131920° foRaT ST 81 39 HIS U H «GOCSUM? &I
DS FAT?

Options :

1. % 142138127

2. ¥ 142183127

3. % 142183217

4. % 141283127

Question Number : 14 Question Id : 54062624288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The president of a college have to select three persons from amongst five persons P, Q, R, S and T. Neither Q nor S can be selected with T.
Neither P nor R can be selected with Q. R and S have to be selected together. Who among the following may be selected?

Options :
1.%¥ PQandT
2.% Q,Rand T



3.% Q,Rand S
4.+ P, Rand S

Question Number : 14 Question Id : 54062624288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Piciol & Y DI U AP, Q, R, ST THIA I AAd TG I M QB SH TH WA TA A oA g M PATGI R BT Q
& 1Y AT O Tl § | R AT S BT 91 H &1 g1 o1 8 | Fafariaa § 9 o g o wevar g2

Options :

% pQTUT

2. % QRTAUTT

3. % Q RAYUTS

4. ¥ P RAYUTS

Question Number : 15 Question Id : 54062624289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Eight friends A, B, C, D, W, X, Y and Z are sitting around a circular table facing towards the centre (not necessarily in the same order). Z is
second to the left of A. D is sixth to the right of Z. C is not the immediate neighbour of D or Z. Y is third to the right of C. X is fourth to the right
of B.

Which of the following statement(s) is/are correct?
1. Y is fourth to the left of A.
II. B is second to the left of W.

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. ¢ Neither I nor 11

Question Number : 15 Question Id : 54062624289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ®Had I

2. % HAA I

3, % [qUT I SHl
4. ¢ ATBIIATBIII

Question Number : 16 Question Id : 54062624290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Weights of six tyres J, K, L, M, N and P are compared. No two tyres have same weight. Weight of L is less than only K, N, M and P. Weight of K
is less than only P.

Which of the following sequence(s) can be correct?
LL<M<P

ILJ<N<M

NI.M<N<L

Options :

1. # Only III

2. % Only II

3. % BothIandII
4. % Both IT and III

Question Number : 16 Question Id : 54062624290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BETRI I, K, L, %,Na%np$uﬁﬁ§amﬁmﬁ%| D N A TR BT YR THH TG 8| L BT UR FAA K, N, M AT P F HH G| K Bl
YR Hdd P I HH G|



e ¥ ¥ &9 I/ 3 gHH 9! 8 Thdl/adhd 8/8?
LL<M<P

I.J<N<M

IHNI.M<N<L

Options :

1. % FHad I

2. ¥ Had Il

3. % [qUT el
4. % 11T 111 ST

Question Number : 17 Question Id : 54062624291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Eight boys P, Q, R, S, T, U, V and W are sitting around a circular table facing towards the centre (not necessarily in the same order). S is third to
the right of W. R is the immediate neighbour of P and W. R is second to the left of Q. W is second to the left of T. U is not the immediate
neighbour of P. Which of the following statement is correct?

Options :

1. # U is to the immediate right of V.
2. ® T is second to the left of V.

3. % U is third to the left of R.

4, % W and V are immediate neighbours.

Question Number : 17 Question Id : 54062624291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AEASH P, Q, R, S, T, U, V AUT W Hg BI 3R T HPb U JAIHR TSl & 36-111¢ 96 §U 8 (SR -Tg! bl 3T HHAA BN S, W & gt
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Options :

1. % U, V& qd ail 3R B

2. % T,V i IR M VAR g

3. ¢ U, R Il IR TR R R B




4. % WU v Adpeaq usiit g

Question Number : 18 Question Id : 54062624292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 boys B1, B2, B3, B4, B5, B6, B7 and BS likes one colour from C1, C2, C3, C4, C5, C6, C7 and C8 (not necessarily in the same order). No two
boys like same colour. B7 likes C4. B5 don’t like C1 or C7. B3 likes either C1 or C5. B8 likes a even numbered colour. B4 likes a even numbered
colour. B2 likes C3. B5 likes a odd numbered colour.

Which of the following statement(s) is/are not correct?
I. B6 and B1 both can like a even numbered colour.

II. B1 likes a odd numbered colour.

III. B5 likes C5.

Options :

1. * Only II
2. % JandIII
3. % Il and III
4. % Jand I

Question Number : 18 Question Id : 54062624292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 TSI B1, B2, B3, B4, BS, B6, B7 A4T B8 &1 C1, C2, C3, C4, C5, C6, C7 AUT €8 T T T T UG g (T3] -Tg! ! 34 HH BN | Dis i al
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1. B5 &1 C5 UHE g |

Options :

1. % Had 11

2. % 1 GUTII

3. % I dUT I




4.« 1dYT I

Question Number : 19 Question Id : 54062624293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. Some N are L.
II. No L 1s G.

Conclusions:
I. Al N are L.
II. All G are N.

Options :

1. % Only conclusion I follows

2. % Only conclusion II follows

3. # Both conclusions I and II follows

4. % Neither conclusion follows

Question Number : 19 Question Id : 54062624293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 foU T Uy & 58 U 3R 39D 918 31 Bl R SMUTRT & (5h U T | 3T T By oI 91 AM, 1e 39 AE= 1 a2t
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DHY: %
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1. ®is L, G T2

.
L 9N, LBl
1L 9 G, N




Options :

1. # $Had [T5HY [ 3IERU Hdl §

2. % Had fHY 11 TR0 BT &

3. % G fISpY [ T 11 SFAR0T 6’ §
4. ¢ 1S 1t Frspef SrgeRoT T R §

Question Number : 20 Question Id : 54062624294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. No A is B.
II. Some C are B.

Conclusions:
I. All C are A.
II. No B is A.

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. # Both conclusions I and II follows

4. % Neither conclusion follows

Question Number : 20 Question Id : 54062624294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 foU T Uy T 58 U 3R 39D 918 31 Bl R SMUTRT & (b U MU | 3T T Byl &I 9! AM, 91e 3749 AEa 1 a2t
Y oz 81t feed U oik fsR i & 6 fou o 1 O fse, fou 71U wyi & SR &R gfaasa g

HhY:
1. 3% WA BRI G



IL.$SC, BRI

fsep;

L, A g

1. ®s H B, A TR B

Options :

1. # $Had [T5HY [ 3ITRV Hl &

2. ¢ Had (BN 11 IR0 Rl §

3. % GHI FSHY 1 TT 11 SR H-d &
4. % B1g Wi Fepy 3rERUr el BT ?

General Ability2
Group Number : 2
Group Id : 540626927
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Ability2
Section Id : 5406261174
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20



Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 5406261398
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54062624295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. All bottle are cooler.
II. No fan is cooler.

Conclusions:

I. Some bottle are not fan.
II. Some cooler are bottle.
III. All fan are bottle.

Options :

1. # Both conclusions II and III follows
2. ¥ Both conclusions I and II follows
3. ¥ Only conclusion I follows

4. % All conclusion follows

Question Number : 21 Question Id : 54062624295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % I fIS 11 T 111 SFIERUT 63l §
2. ¢ QI ISP 1 QT 11 S8R Rl §
3. % $Had fTsHY [ SR Bl §

4. % it fFrep SR XA §

Question Number : 22 Question Id : 54062624296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. All P are Q.
II. AIl N are P.
III. No S is P.

Conclusions:

I. Some P are not S.
II. Some P are N.
III. Some Q are P.

Options :

1. # Both conclusions II and III follows
2. # Only conclusion I follows

3. % Only conclusion II follows

4. % All conclusion follows

Question Number : 22 Question Id : 54062624296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T 3T T Uy & 8 U 3R 3% 918 31 HUHI IR SUING & 56y 3T T4 § | 3T T = & 981 A, 918 S8 Qg I 9
3 oz 81t e o ofk fRR fReifa &% i fou o o O fse, fou e syl & smyR &R gfaasa g

HY:
LIt e QFl
.94 N, P B

1, &8 i s, pIE 8

fsep:

L PSP STal gl
1. $3 P, N B
. $6 Q, P&l

Options :

1. % Q! FSBY 11 T 111 SRR X &
2. % Had (5HY [ IR0 HRl §

3. % $Haq (ISHY 11 3ITRUI Bl §

4.« Tt Frepe SR Rl §

Question Number : 23 Question Id : 54062624297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. NoRis G.

II. All R are P.

III. Some G are A.

Conclusions:

I. Some A are not R.
II. Some R are not G.
III. Some P are R.



Options :

1. # Both conclusions I and III follows
2. % Only conclusion II follows

3. % All conclusion follows

4. % Neither conclusion follows

Question Number : 23 Question Id : 54062624297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3T T Uy H 8 U 3R 3% 918 31 HUHI IR YN & 56y 3T T4 § | 3T T =1 &1 91 A, 918 S8 Qg I 9
3 frzrar 81t e o ofik fsR fReifa & i fou o o 3 s, fou U syl & smuR &R gfaasa g

HY:
.S HR, GBI

.94 R, P T
L. $S G, A gl

fsep:

L. $S A RTR &I
. $B R, G TR B
III. $& P, R 5

Options :

1. % Q! 5B Y 1 YT 111 SFIR0T 6’ §
2. % Had (BN 11 SR Al §

3. ¢ It Feap e SRR vl §

4. % B W sy SrgERur el T g

Question Number : 24 Question Id : 54062624298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

86, 93,107, 115, 128, 135, 149



Options :
1. * 86
2.9 93
3. % 115
4. % 107

Question Number : 24 Question Id : 54062624298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3 foar T 8, Ford ¥ U ug 7T ¢ | fau 7Y fawed! #f 9 39 71ad g & gHu|

86,93, 107, 115, 128, 135, 149
Options :

1. #® 86

2.9 93

3. % 115

4. % 107

Question Number : 25 Question Id : 54062624299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related number from the given alternatives.

6:64::9:7
Options :
1. % 123
2. % 126
3.9 121
4. % 124

Question Number : 25 Question Id : 54062624299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fraferad uy # fau e fdepedl # A Heiftid de o1 gHu|
6:64::9:7

Options :

1. % 123

2. % 126

3.9 121

4. % 124

Question Number : 26 Question Id : 54062624300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 108 K18 N3=26and4NO95K5=84,then 55 K5N6=7?
Options :

1. ¥ 74

2. %76

3. % 78

4. % 72

Question Number : 26 Question Id : 54062624300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GG 108 K 1I8N3=26TUT4N 95K 5=84B, M55 K5N6="2
Options :

1. ¥ 74

2. % 76

3. % 78

4. % 72

Question Number : 27 Question Id : 54062624301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



If “+” means ‘+’, ‘+” means ‘+’°, ‘X’ means ‘-’ and ‘—” means ‘x’, then which of the following equation is correct?
Options :

1. % 15+14-42+32<85+17+19

2.%95+19+17>31+7+4-28

3.9 25+-92+23x35<84+3-4

4, % 55x21+87+29<16x81+9

Question Number : 27 Question Id : 54062624301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g <+ B3 =+ BT ) o BT 3 > AT = BT 3 o BN, A FEffed & O 314 a1 Il 9@l 52
Options :

1. % 15+14-42+32<85+17+19

2.%95+19+17>31+7+4-28

3.9925+92+23x35<84+3-4

4, % 55x21+87+29<16x81+9

Question Number : 28 Question Id : 54062624302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the diagram that best represents the relationship among the given classes.

Brother, Son, Male
Options :

1. ¥




@
&

Question Number : 28 Question Id : 54062624302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 3R\ AT S i foU U ol & o9 & ddY &1 et fAequr Hrar g
UK, T, I&

Options :

@

1. ¢




&

Question Number : 29 Question Id : 54062624303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many white are only tyre?

Tyre 11
/ﬁ]\\
v ; N white
A 13 <
10 9
4
Car a
Options :
1. % 8
2.9 13
3. % 21
4. % 14

Question Number : 29 Question Id : 54062624303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fhe- qhg had TR 67




Ty 11
10

e [T

] 5[
10] 9

EFlT/ .

Options :

1. %8

2.¥ 13

3. % 21

4. % 14

Question Number : 30 Question Id : 54062624304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many red are neither black nor blue?

Black
11

18

9 3 6

15 2 2

8

Blué/ 4 Red
Options :
1. % 15

2. % 4



3.% 19
4.9 17

Question Number : 30 Question Id : 54062624304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ford ST ATl HTal § AT i 82
AR
11

18

0 3 6

15 2 2

A

Fﬁ?»lT/ 4 RIE)

Options :
1. % 15
2.% 4
3.% 19
4. 17

Question Number : 31 Question Id : 54062624305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given diagram, which of the following statement(s) is/are not correct?



16/
|

I. Number of bulb which are not lamp, are 2.
II. Total number of tea are 32.

Options :

1. % Only 1

2. % Only II

3. # BothIand II
4. ¥ Neither I nor II

Question Number : 31 Question Id : 54062624305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T T SR & YR IR, Fofifad & &9 91d U 98 T8 8782



\

Ny
=

1. 98 §cd Sl U g1 5, Pt GBS 2 5|
1. I P Hdl TAT 32 |
Options :

1. % Had 1
2. % Had Il
3. % [ UGl
4. TBIIATR I

Question Number : 32 Question Id : 54062624306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given diagram, which of the following statement(s) is/are not correct?

\<Paﬁ:ﬂ<‘r'cllﬂw
2
4
71 8 16 3
Book 9 §
~N




I. Number of yellow which are neither book nor page, are 0.
II. Number of books which are only pages, are 9.

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 32 Question Id : 54062624306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T U SRE & YR IR, Fofif@d & &9 91/A HuF 9e 981 2787

Che drel
></“‘<
4

A1 8 16 ,

e 9
hy

L I8 NA AT d [ § e g8 8, P A=A 0 ] |
1. 98 G Sl adl U§ §, B T 9 g
Options :
1. % $had |
2. % Had I
3. % [ QYT A

4. BB

Question Number : 33 Question Id : 54062624307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Two figures given on the left side of (::) are related with some logic/rule/relation. Select the missing figure on the right of (::) from the given
alternatives based on the same logic/rule/relation.

0: [0

4 o

Options :
RE
ME:
BE.
M

Question Number : 33 Question Id : 54062624307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(::) & St 3R &t et &1 s faat fordt adh/fomaddy I defia 71 38 M3 faswedi § 9 () & ol 3R 0 adb/fFam/Asy iR sramia
W SHid BT FF

loldz L]z




Options :

e
NE.
it
ME:

Question Number : 34 Question Id : 54062624308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the odd figure from the given alternatives.
Options :




Question Number : 34 Question Id : 54062624308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad vy , fau 7 fawedl & 9 faww sirefd &1 gl

Options :

2.¥




Question Number : 35 Question Id : 54062624309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?

000 > 000
100/060;000
J00/066[A08

Options :

2.¥




Question Number : 35 Question Id : 54062624309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI It IR MBI UY MBI & UfeRed Bl TR B2

i
100/060;000
J00/060[A08

"
i

i




Question Number : 36 Question Id : 54062624310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the figure which can be placed at the sign of question mark (?) from the given alternatives.

O|[@4|®)]| -

Options :

1. %
1@
1®

3. %
®

4. %

Question Number : 36 Question Id : 54062624310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy @ feu T fomedl O 9 Uy g (2) & RIM R 3 arelt 3HTHhid &1 gl



O|[@4| @] -

Options :

®
2.¢
1®
3.
®

Question Number : 37 Question Id : 54062624311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?

Options :



4.9

Question Number : 37 Question Id : 54062624311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI I IR MBI UY MBI P UfeRed DI TR B2
5 I

/|

AL

Options :




Question Number : 38 Question Id : 54062624312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three positions of a dice are given below. What will come opposite to face containing ‘R’ and ‘A’ respectively?

> D S
QERNIRNL

3.% P L
4. % 4, P



Question Number : 38 Question Id : 54062624312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 T U Bt o SaTE eIl TR § 1 HERT: R AT A’ o] HdAd & [AURId o SHTET?

Options :
1.¥L,P
2.% P H
3.%PL
4, % H,P

Question Number : 39 Question Id : 54062624313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles are there in the given figure?

Options :
1. % 13
2. %15
3. % 17



4. 16

Question Number : 39 Question Id : 54062624313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&1 pfa B frem Aryer g2

Options :
1. % 13
2. %15
3. % 17
4.9 16

Question Number : 40 Question Id : 54062624314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A piece of paper is folded and punched as shown below in the question figures. From the given answer figures, indicate how it will appear when
opened?

Options :



1. ¢

Question Number : 40 Question Id : 54062624314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I & Uy Spfadl § foTT SUR SIS & HISHR w1 aul Wi & 91 98 [y IR S o fa@rs g

via
Options :
[ —
n[ltr vﬂn
vla alle
—l

1. ¢
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Number of Questions : 20

Number of Questions to be attempted : 20
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Sub-Section Id : 5406261399
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54062624315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sultan Ghari’s Tomb is located in
Options :

1. # Uttar Pradesh

2. % Kerala

3. % Delhi

4. % Bihar

Question Number : 41 Question Id : 54062624315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e TR} &1 HBaRT i fRERI
Options :

1. % IR YT

2. % B

3. ¢ faceft

4. % foBR

Question Number : 42 Question Id : 54062624316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Gogaji fair belongs to



Options :

1. ¥ Rajasthan

2. # Punjab

3. % Andhra Pradesh
4. # Kerala

Question Number : 42 Question Id : 54062624316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS AT S dfd gl
Options :

1. & TSI

2. % U9

3. % 3MiY U™

4. % A

Question Number : 43 Question Id : 54062624317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of dance — part of India is correct?

I. Kathak — Southern
II. Kathakali — Northern

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 43 Question Id : 54062624317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T — YRd & U &I Fafafad § 4 o9 913w 98l 82

1. YD — CIE
1. HYHA — I

Options :

1. % Had I

2. % HAd Il

3. % [ UGl
4. TBIIATR I

Question Number : 44 Question Id : 54062624318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are solid instruments which do not require tuning?
Options :

1. # Tata Vadya

2. % Ghana Vadya

3. # Avanaddha Vadya

4. % Sushira Vadya

Question Number : 44 Question Id : 54062624318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffed & T oF T 319 a1 &, oI THER TR | 6 &1 Taegdhdl Ta] glal?
Options :

1. * dddrd

2. Y4l

3. % 3{d& dld

4, % R Arg

Question Number : 45 Question Id : 54062624319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the policy instrument of Reserve Bank of India?

I. Cash Reserve Ratio (CRR)
II. Liquidity Adjustment Facility
II1. Corridor

Options :

1. % Tand II

2. % Il and III
3. % Only III
4, % 1,11 and III

Question Number : 45 Question Id : 54062624319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiRed & @ & 918 YR Roid 9o @) Hifd @ forad 2/8°

1. A dl 3RI&| Y U (@emsm):
I1. I GRS gfae

II1.

Options :

1. % 14Ul
2. % I dYTI

3. % Had Il

4. LI dYTIII

Question Number : 46 Question Id : 54062624320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the market structure, where the number of sellers is few, is called?
Options :

1. ¥ Oligopoly

2. % Monopoly



3. % Duopoly
4. # Perfect Competition

Question Number : 46 Question Id : 54062624320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I8 SN G forad fashdran @t T A1) gicht B, o el ol 82
Options :

1. ¢ JAMIBR

2. % THIYDR

3. % GUIYPR

4. % qUf gfanfra

Question Number : 47 Question Id : 54062624321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The size of the 200 rupees note of the Mahatma Gandhi (New) Seriesis
Options :

1. # 62 mm x 143 mm

2. % 62 mm x 144 mm

3. % 66mm x 146 mm

4. % 64 mm x 142 mm

Question Number : 47 Question Id : 54062624321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TeTe el (Tl SR 200 TR F AT HTHMBFR B
Options :

1. % 62 mm x 143 mm

2. % 62 mm x 144 mm

3. % 66 mm x 146 mm



4. % 64 mm % 142 mm

Question Number : 48 Question Id : 54062624322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are NOT true regarding Fiscal Responsibility and Budget Management Act, 2003 (FRBMA)?

I. The rules under the Act were notified with effect from July, 2004.
II. The Act mandates the central government to take appropriate measures to reduce fiscal deficit and eliminate revenue deficit.

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. ¢ Neither I nor 11

Question Number : 48 Question Id : 54062624322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed Fya/eYE & S /A AR ITRed 3R g9l YaeH HffTam, 2003 (THIRHTHT) & I § I8! 81 8/8?

1. 39 SfIfTaH & ol &l Jars, 2004 T gHTE fovam 4T T
11 SFITH H g TRPR DI ISIHINIY TS Dl HH B 3R IO °Ie Bl TH B3 P [T Ifd U A 7 31y e T |

Options :

1. % $Had 1

2. % Had Il

3. % [ UGl
4. AL ATAN

Question Number : 49 Question Id : 54062624323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are true regarding Currency Deposit Ratio (CDR)?



I. It reflects people’s preference for liquidity.
II. It is a purely behavioural parameter which depends, on the seasonal pattern of expenditure.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 49 Question Id : 54062624323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el o 3T (HTE1eiR) & ey 7 fFgfifad ¥ & 91 ¥ Sy 98 2782

1. U8 I & forw anm & urufiredr &t gxifar g
11. 78 fags U ¥ SIagiRe Ueid g S W & ] Wy R AR R g

Options :

1. % Had 1

2. % HAd Il

3. ¢ [ 3RS
4. % A LATAN

Question Number : 50 Question Id : 54062624324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which acid is found in tomatos?
Options :

1. # Acetic

2. ¥ Oxalic

3. % Lactic

4. ¥ Methanoic

Question Number : 50 Question Id : 54062624324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TR B I T 37T UTT STl 82
Options :

1. % UOifew

2. ¢ Jffeip

3. % dfded

4. % QUATSH

Question Number : 51 Question Id : 54062624325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a by product of wastewater treatment?

I. Sludge
II. Biogas

Options :

l. % Only I

2. % Only II

3. % BothIand II
4. #® Neither I nor II

Question Number : 51 Question Id : 54062624325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 & 91 Uiy Sd TR & 98-3d1G 82

AR
11, ST

Options :
1. % FHadl
2. % Had I



3. 1dUT 11 Sl
4. % qTEIIATRIII

Question Number : 52 Question Id : 54062624326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct?

I. Acid turns blue litmus red.
II. Base turns red litmus blue.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 52 Question Id : 54062624326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad # 3 &1 /8 Y 98l 8/8?

L. 3 A fercng S Ad dRedT 2
11. &R ATd foreny ) T R a1 g

Options :

1. % Hadl

2. % HAd Il

3. ¢ 1 UGl
4. % qEIIATE I

Question Number : 53 Question Id : 54062624327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair is/are correct?



I. Prokaryotic cell — have single chromosome
II. Eukaryotic cell — have more than one chromosome

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 53 Question Id : 54062624327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofafed & 9 oH 918 g 98 8/6?

L. MR HIfRehT — b HIAEH
I1. gH AT - T ¥ 31fee wraa
Options :

1. % Had |

2. % Had II

3. ¢ 1 AUT I A

4. % qEIIATR I

Question Number : 54 Question Id : 54062624328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which river forms the Dhuandhar falls?
Options :

1. ¥ Narmada

2. # Godavari

3. % Mahanadi

4. ® Tapi



Question Number : 54 Question Id : 54062624328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
¢3HTUR JUTd BT A0 I AT 78 Bt 82
Options :

1. ¢ THa

2. % TEIaRt

3. % Wl

4. % i

Question Number : 55 Question Id : 54062624329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Time along the standard meridian of India passing through is taken as the standard time for the whole country.
Options :

1. # Kanpur

2. ¥ Mirzapur

3. # Allahbad

4. * Lucknow

Question Number : 55 Question Id : 54062624329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

_ QTSR 9l YR 1 Y4 SRR X1 & JHY b1 PR G BT HMD Fg WA A1 |
Options :

1. ® DR

2. ¢ IRGTR

3. % gdledic

4, % U1

Question Number : 56 Question Id : 54062624330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a biosphere reserve in India?

I. Sundarbans
II. Nilgiri

III. Manas
Options :

1. % Tand II
2. % Il and III
3. % JandIII

4, % 1,11 and III

Question Number : 56 Question Id : 54062624330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifad & ¥ o 91 YRa § Siadsd e 82

1. e

11 iR
1. {199
Options :

1. % 14Ut
2. % I dYUTIII
3. % [dYTIII

4. 1 11 dYT 1T

Question Number : 57 Question Id : 54062624331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of ocean current — type is/are correct?

I. Labrador — Cold
II. Gulf — Warm

Options :



1. % Only I

2. % Only II

3. % BothIand II
4. #® Neither I nor II

Question Number : 57 Question Id : 54062624331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ARG YRT - UHR &1 HEfad H ¥ & 91/ JH 981 6/8?

I sk — 2fid

IL TTe% — 9
Options :

1. % $Had 1

2. % HAd Il

3. [ QYT I gl
4. % 1B 1

Question Number : 58 Question Id : 54062624332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct regarding rice?

I. Grows best in alluvial clayey soil.
II. It is a staple diet in tropical regions.

Options :

1. * Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 58 Question Id : 54062624332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Iad & e A Fufeiad # 9 oF 913 wy= I8l /82

I. 98 dihIgad oidle Jal § Jarad 9gdl ¢ |
11. I8 IWT Hicaeia &= &1 IBT 3MER ¢
Options :

1. % FHadl
2. % Had Il
3. ¢ 1 AUTIL AT
4. % AGIIATRII

Question Number : 59 Question Id : 54062624333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bal Gangadhar Tilak raised the Slogan .

Options :

1. ® “Jai Jawan, Jai Kisan”

2. ¥ “Freedom is my birthright and I shall have it”

3. ¥ “Tum Mujhe Khoon Do, Mai Tumhe Azadi Dunga”
4. # “Karo ya Maro”

Question Number : 59 Question Id : 54062624333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1t TiTTeR forere A ERUEEIKIT

Options :

1. % <7 SfqT oY fehr

2. ¢ <G IR 5T g fIBR § 3R H 38 Ahr g
3. % <A Y G al, 7 gre Sdl g

4 % TR




Question Number : 60 Question Id : 54062624334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
river was flowed through Magadha.

Options :

1. % Satlyj

2. * Yamuna

3. % Ganga

4. % Narmada

Question Number : 60 Question Id : 54062624334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ty S g oY
Options :

1. % Jdol

2. % gHql

3. T

4. ® THQT

General Awareness2

Group Number : 4

Group Id : 540626929
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No



General Awareness2

Section Id : 5406261176
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261400
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54062624335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ruled in Delhi from 1130-45.

Options :

1. ® Prithviraj Chauhan

2. % Raziyya

3. % Anangapala

4. # Alauddin Khalji

Question Number : 61 Question Id : 54062624335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
el 1130-45 9% 29 fohar AT
Options :

1. % QGRS T8

2. % forn

3. ¢ 3T



4. % I3 Tefoil

Question Number : 62 Question Id : 54062624336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who invaded north India five times between 1748-1761?
Options :

1. # Akbar

2. ¥ Ahmed Shah Abdali

3. % Nadirshah

4. # Aurangzeb

Question Number : 62 Question Id : 54062624336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1748-1761 & ST H I HRA TR Ul IR AT forg= faeam o1
Options :

1. % 3PAR

2. ¥ 3(GHE TG Jfacall

3. % TIfdRTE

4. % ARG

Question Number : 63 Question Id : 54062624337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of Battle and their year is/are correct?

1. Battle of Buxar — 1757
I1. Battle of Plassey — 1764

Options :
1. % Only I
2. % Only II



3. ®* BothIand II
4. « Neither [ nor 11

Question Number : 63 Question Id : 54062624337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifed & ¥ o I/ gm dsTs 3R 3% a8 & daH § It /82

. TRR B ASTE - 1757
1. |} Y SIS — 1764

Options :

1. % Had |

2. % Had II

3. % [ QYT
4. TBIIATRII

Question Number : 64 Question Id : 54062624338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Saraswati Samman is given every year for the outstanding work in the field of
Options :

1. % Science

2. % Journalism

3. * Dance

4. % Literature

Question Number : 64 Question Id : 54062624338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR G YdD I & A IFy 1 & fo fear S g

Options :

1. % gy



2. % SHfeod
3, % gMg
4, ¢ TRIEE=R

Question Number : 65 Question Id : 54062624339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the author of the book ‘Song of India’?
Options :

1. # Shashi Tharoor

2. ¥ Ruskin Bond

3. % Anna Burns

4. ¥ Meenakshi Lekhi

Question Number : 65 Question Id : 54062624339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T T 31T AT & T B 2
Options :

1. % QR URR

2. ¢ IHA TS

3. % TATIR

4. % forTreqt ot

Question Number : 66 Question Id : 54062624340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which organization has released World Competitiveness Index 2021?
Options :

1. ¥ Food and Agriculture Organization

2. % World Trade Organization



3. ¢ Institute for Management Development

4. ® International Monetary Fund

Question Number : 66 Question Id : 54062624340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ford TR 7 I PHUfCea T S 2021 UHIRI [T 52
Options :

1. % S UUS WidheraR RATTOIRA

2. % g3 ¢S 3RUTSOIRM

3. ¢ SReE BR ToHe Saautc

4, % SRS HHR BUS

Question Number : 67 Question Id : 54062624341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RAKSHITA developed by Defence Research and Development organisation (DRDO) is a
Options :

1. ¥ Bike Ambulance

2. ® Pistol

3. ® Missile

4. ® Water Tank

Question Number : 67 Question Id : 54062624341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&7 YU UG [aeT W16 (S1.3MR.31.3M) §RT fa®RId RAKSHITA gl
Options :

1. ¢ S5® Tgad
2. % fodid

3. % o9



4. ® U HT1 P

Question Number : 68 Question Id : 54062624342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Irfan Khan, who died after fighting a long battle with cancer, was associated with which field?
Options :

1. % Music

2. # Sports

3. % Acting

4. % Journalism

Question Number : 68 Question Id : 54062624342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RGH T ST YT HXR T Tl TS & o1 g, [P & A 98
Options :

1. % gifid

2. % Wiy

3. ¢ TR

4. % SfereH

Question Number : 69 Question Id : 54062624343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which city of India, Kumbh Mela 2021 was organised?
Options :

1. ¥ Haridwar

2. % Prayagraj

3. % Kolkata

4, % Varanasi



Question Number : 69 Question Id : 54062624343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y AT 2021, HRA & fov g e T franiford fovan mar Ut
Options :

1. ¥ BRER

2. % YRS

3. % DIABII

4. % qRIUTE

Question Number : 70 Question Id : 54062624344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has been named first-ever Time’s Kid of the Year?
Options :

1. ¥ Gitanjali Rao

2. # LeBron James

3. % Dommraju Gukesh

4. # Nihal Sarin

Question Number : 70 Question Id : 54062624344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fordl Ugelt IR TeH s 3t 1S 3aR 1fid fopan T g2
Options :

1. ¢ frdierelt g

2. % WlsiF oIy

3. % SRS TS
4. % 8T ORH



Question Number : 71 Question Id : 54062624345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Akash Prime missile was tested in September 2021. It is a missile.
Options :

1. # surface to surface

2. ¥ surface to air

3. # air to air

4. % air to surface

Question Number : 71 Question Id : 54062624345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STHTY UTsH TS d ! Rider 2021 H ¢ fosar mar U1 98 U frrasa gl
Options :

1. % TWHY T IWBY

2. ¢ WhHY ¢ TR

3. % TRETTR

4, % TR ¢ WBY

Question Number : 72 Question Id : 54062624346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of the Indian Constitution deals with composition of the council of states?
Options :

1. # 81

2.9 80

3.% 79

4, % 78

Question Number : 72 Question Id : 54062624346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

YR AU BT DI AT Sw5E ASITHT BT IRa1 9 Jafd g2
Options :

1. = 81

2.9 80

3.% 79

4. % 78

Question Number : 73 Question Id : 54062624347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of the Indian Constitution deals with appointment of Ad hoc judges?
Options :

1. % 126

2. %123

3.9 127

4. % 125

Question Number : 73 Question Id : 54062624347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AU BT D AT 3se dad andien &t Fgfad 3 Sefid g2
Options :

1. % 126

2. % 123

3.9 127

4. % 125

Question Number : 74 Question Id : 54062624348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many subjects are included in the union list?



Options :
1. % 102
2. % 66
3. % 47
4. 97

Question Number : 74 Question Id : 54062624348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ty gl # fop fawg < 82
Options :

1. * 102

2. % 66

3. % 47

4.9 97

Question Number : 75 Question Id : 54062624349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Through which constitutional amendment special provisions with respect to the state of Nagaland were added in the Indian constitution?
Options :

1. # Tenth

2. ® Twelfth

3. % Thirteenth

4. % Eleventh

Question Number : 75 Question Id : 54062624349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g Tyt TMYA & A1eEH F AN S T & Ty H AT ISy bl YR Ifay™ & SrsT mar U
Options :

1. ® gyal




2. % gRgdl
3.« aRgdl

4, ® TRA[

Question Number : 76 Question Id : 54062624350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A hockey match consists of four quarters of minutes.
Options :

1. % 10

2.¥ 15

3. % 20

4. % 75

Question Number : 76 Question Id : 54062624350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T il Ha i e H IR PR B 5|
Options :

1. % 10

2.9 15

3. % 20

4. % 7.5

Question Number : 77 Question Id : 54062624351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In US open, a men's singles match is of sets.

Options :

1. % 3

2.% 4



3.¢¥5
4. % 6

Question Number : 77 Question Id : 54062624351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g.uq 3N ¥, TN Uehd &1 U 1 I HT T g
Options :

1. %3

2.% 4

3.5

4. % 6

Question Number : 78 Question Id : 54062624352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which team lost in the final of Vijay Hazare Trophy 2020-21?
Options :

1. ¢ Uttar Pradesh

2. % Mumbai

3. # Delhi

4. * Baroda

Question Number : 78 Question Id : 54062624352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fooTT IR ST 2020-21 & BT | DI I < BRY A2
Options :

1. ¥ SR UK

2. % 43

3. % faeed!



4. % g3IQ1

Question Number : 79 Question Id : 54062624353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of sports — sportsperson is correct?

I. Football — Sunil Chhetri
II. Football — Dhanraj Pillay

Options :

1. % Only I

2. % Only II

3. % Both IandII
4. ¥ Neither I nor II

Question Number : 79 Question Id : 54062624353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T - et &1 fufafad & @ oF o 3 98 82

I peald - gtd 4t
1. Beaid - YRl Ut
Options :

1. Hadl
2. % Had Il
3. % [qQUT I gFl
4. % FATIATAI

Question Number : 80 Question Id : 54062624354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of sports — sportsperson is correct?



I. Hockey — Saikhom Mirabai Chanu
II. Table Tennis — Ankita Raina

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 80 Question Id : 54062624354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T - Faeet o1 Fgfefed 7 @ o a1 gm wgi 82

1. giop! - TE HRTETS
11, 39d A - sifepar ¥

Options :

1. % Had I

2. % HAd Il

3. % [ QU Gl
4. AAIAA

Arithmetic Abilityl

Group Number : 5

Group Id : 540626930
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No



Arithmetic Abilityl

Section Id : 5406261177
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261401
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54062624355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the smallest 4 digit number which is exactly divisible by both 10 and 40?
Options :

1. #* 1040

2. % 1400

3. % 1080

4.+ 1000

Question Number : 81 Question Id : 54062624355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10 YT 40 ST ¥ gofa: fuifra 8 areft 4 it &1 T B T 19 1 82
Options :

1. * 1040

2. % 1400



3. % 1080
4. % 1000

Question Number : 82 Question Id : 54062624356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of (3.3)° — (1.1F —(2.2)3?
Options :

1. % 25412

2. % 2284

3.9 23,958

4. % 21912

Question Number : 82 Question Id : 54062624356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(3.3 — (1.1)* — (2.2)} T AT AT g7
Options :

1. % 25412

2. % 2284

3.9 23,958
4, % 21912

Question Number : 83 Question Id : 54062624357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

: 5
What is the value cf%.:,f EXS_“;E+E><55;E+EKE?

3 % 33 238 4 7 #H T 6
Options :



086

397

001

1010
99

Question Number : 83 Question Id : 54062624357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 55 55
;mgx:+ﬁ+ix:+ﬂ+ixﬁﬁrmw§‘?
7 X 2 28 o4 7 14 T b

Options :
036

897

991
3.4 0



1010
99

Question Number : 84 Question Id : 54062624358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1

; 1 1 1
‘What is the value of 11— +13—+15—+_...25— 7
3 15 35 255

Options :
1234

1. % 15

1347
) ® 17

2456

Question Number : 84 Question Id : 54062624358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 1 1 1
niinntis e s 1 @ AW FT
1 15 35 255



Options :
1234
1. % 15

1347

) % 17

2456
3.0 17

Question Number : 85 Question Id : 54062624359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct?

I. Highest common factor of BB P

1133766 11
II. Least common multiple of 240, 200, 270 is 10800.
Options :
1. % Only I
2.% Only II
3. # BothIandII
4. * Neither I nor II

Question Number : 85 Question Id : 54062624359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafof@a & ¥ &9 /8 Fu9 T 887

5 25 35
132 3 % mecaw gaMads O3
11

11733766
Il. 240, 200, 270 ¥ WEead TATIEE 10800 F|

Options :

1. % PHadl

2. ¥ Had I

3. % [T I gl
4. % I IAE I

Question Number : 86 Question Id : 54062624360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Marked price of an article is Rs. 11800 and its selling price is Rs. 7788. What is the discount percentage?
Options :

1. #* 32 percent

2. % 35 percent

3. ¥ 34 percent

4. % 30 percent

Question Number : 86 Question Id : 54062624360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T I 1 Sifhd Jed 11800 TUT § IUT ITHT 36T T 7788 FUA § | Fe Uf=Id &1 82
Options :

1. % 32 gfaed
2. % 35 fad




3.« 34 Ufa=d
4. % 30 yfawrd

Question Number : 87 Question Id : 54062624361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A merchant marks the price of his article 30 percent above the cost price. If he allows 10 percent discount, then what is the profit or loss
percentage?

Options :

1. # 20 percent loss
2. % 17 percent profit
3. % 13 percent loss

4. % 23 percent profit

Question Number : 87 Question Id : 54062624361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T IR 30T a%g & Hed BI o630 Jed F 30 URTd SHfes 3iferd =l 5 137G a8 10 UFRId @e &l §, al aTH 37aT gl icr=Td o1 62
Options :

1. % 20 Uf=Id g1

2. ¢ 17 Ufa=rd Aty

3. % 13 Ufc=Id g1

4. % 23 Yid=rd A1y

Question Number : 88 Question Id : 54062624362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the average of 13 consecutive numbers starting with ‘a’ is x, then what will be the average of 13 consecutive numbers starting with ‘a + 5’?
Options :

1. % x+3

2. % x+4

3.9 x+5



4, % x+7

Question Number : 88 Question Id : 54062624362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S o’ W URY B AT 13 SHHRT BTSN BT A x B, Tl “a + 5° F URH B aTaH 13 SHHRT SBT3 BT HAd T G2
Options :

l. % x+3

2. % x+4

3.9 x+5

4. % x+7

Question Number : 89 Question Id : 54062624363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a class, 85 percent are boys and the number of girls are 105. What is the number of boys in the class?
Options :

1. * 585

2. % 575

3. ¥ 595

4. % 565

Question Number : 89 Question Id : 54062624363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T H&TH, 85 UAUd ASd & dUT AS bl B TWAT 105 & | &l & ASh! b1 T T 32
Options :

1. % 585

2. % 575

3. ¥ 595

4. % 565



Question Number : 90 Question Id : 54062624364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The salary of a worker is firstly increased by 35 percent and thereafter reduced by 20 percent. What is the net change in the salary?
Options :

1. ¥ 8 percent increase

2. % 15 percent increase

3. % 8 percent decrease

4. % 15 percent decrease

Question Number : 90 Question Id : 54062624364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HHARI & - H Tgd 35 UTI=Id &1 3 B3 & 94T 3P UHTd 20 UTI=Id & HH! &1 T g | da- & Had () IRad- 301 3T g2
Options :

1. ¢ g yfawrd gfg

2. % 15 Ufa=d gfs

3. % g gfa=rd At

4. % 15 Ufcr=rd ot

Question Number : 91 Question Id : 54062624365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bag contains red, white and blue balls in the ratio of 11 : 9 : 2. Red balls are increased by 20 percent and white balls are also increased by 20
percent. By how much percent should blue balls be increased/decreased so that the total number of balls increases by 10 percent?

Options :

1. # 80 percent increase
2. % 90 percent increase
3. % 80 percent decrease

4. ¥ 90 percent decrease



Question Number : 91 Question Id : 54062624365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH A H 1, e qUT el ST H1S 11:9: 2 F Ud H || A1 el Bl 20 U= a1 foan T g Ut 9ihe Hal &1 it 20 wfa=ra 9
gel faar mar 8| et el &1 foran ufa=id ¥ seran/aeran ST 1T a1fes el & $a T 10 Ufawd J 9¢ S

Options :

1. % 80 Ufa=Id 9fg

2. % 90 Ufa=Td gfg

3. % g0 Ufard 4l

4. ¢ 90 Ufa=Id HH!

Question Number : 92 Question Id : 54062624366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an office, 45 percent of the total employees are female. 80 percent of the female employees are married and 60 percent of the male employees
are married. Unmarried employees are what percentage of the total employees in office?

Options :

1. ¥ 31 percent
2. # 35 percent
3. % 69 percent
4. # 62 percent

Question Number : 92 Question Id : 54062624366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH ST B, Fd HHANRA! B 45 U= AfGATE 8| 80 UTI=IG Afg el HHART [danied g 9T 60 Ufa=id o8 HHaR] fadried g | sifdarfgd
HHAR! HrAfad H $d HHATRA! & fda Ufa=rd g2

Options :

1. ¢ 31 Ufard
2. % 35 gfard
3. % 69 Ufa=rd
4. % 62 yfaerd




Question Number : 93 Question Id
Orientation : Vertical

: 54062624367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Cost price of a watch is Rs. 960. If the loss percentage is 25 percent, then what is the value of loss?

Options :

1. ¥ Rs. 240
2. % Rs. 120
3. % Rs. 300
4. % Rs. 350

Question Number : 93 Question Id
Orientation : Vertical

: 54062624367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
TS U981 &1 %9 Jed 960 TTY g | Tfe; g1 ufa=rd 25 ufa=rd 8, 9 811 ST A w1 g2

Options :

1. ¢ 240 304
2. % 12030
3. % 300 %09
4. % 350399

Question Number : 94 Question Id
Orientation : Vertical

: 54062624368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
If 5 times of selling price is equal of 6 times of cost price, then what is the profit percentage?

Options :

1. ¥ 20 percent

2. # 25 percent

3. % 16.66 percent
4. % 12.5 percent

Question Number : 94 Question Id

: 54062624368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

e fasha Heg &1 5 A1 50 Hed & 6 AT & SRI6R 8, al a1 fa=rd a1 g2
Options :

1. ¢ 20 Ufa=rd
2. % 25 gfard
3. % 16.66 Ufa=rd
4. % 12.5 gfa=rd

Question Number : 95 Question Id : 54062624369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person sold a shirt for Rs. 960 at a loss of 20 percent. If he wants to earn a profit of 35 percent, then at what price should he sell the shirt?
Options :

1. % Rs. 2080

2. % Rs. 1980

3. ¥ Rs. 1620

4. % Rs. 1480

Question Number : 95 Question Id : 54062624369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ggﬁﬁzouﬁmﬁaﬁeﬁwmmﬁwmﬂaﬁl g a8 35 UFARId &1 ATY HHFT A16dT 5, a1 39 HHI Pl [y T W o1
?

Options :

1. % 2080 >0Y
2. % 1980 TYY
3. ¢ 1620 39T
4. % 1480 307

Question Number : 96 Question Id : 54062624370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper sells a bottle at a loss of 40 percent. Had he sold the bottle for Rs. 132 more, then he would have suffered a loss of 30 percent. To
earn a profit of 10 percent, what should be the selling price of the bottle?

Options :

1. # Rs. 1532
2. % Rs. 1376
3. % Rs. 1452
4, % Rs. 1224

Question Number : 96 Question Id : 54062624370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP GHIER U didd Bl 40 U= 1 T IR sadl g1 A ST Sad DI 132 30 $HfAH & 01 gia, A I 30 UfA=Id &1 g1 8t 10
UferRId &1 A1 HHM & o, Siad &1 fasha Tea &1 g1 91 e?

Options :

1. % 1532300
2. % 1376 300
3. ¢ 1452300
4. % 1224 %0°

Question Number : 97 Question Id : 54062624371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rs. 18000 is divided among Raja, Ram and Mohan in the ratio of 7 : 5 : 8 respectively. What is the share of Mohan?
Options :

1. ¥ Rs. 7200

2. % Rs. 4500

3. % Rs. 6300

4. % Rs. 8100

Question Number : 97 Question Id : 54062624371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

18000 FU T TSI, A TUT e & ard HHLT: 7: 5 : 8§ P U H faHTiTd fvan mar 8 | Mg &1 e s g2
Options :

1. ¢ 7200 $YY

2. % 4500 TYY

3. % 6300 ¥UY

4. % 8100 300

Question Number : 98 Question Id : 54062624372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A invested Rs. 16000 for 2 years. B joined him with an investment of Rs. 32000 after few months. If the ratio of profit of A and B at the end of
two years is 3 : 2 respectively, then for how many months was B with A in the partnership?

Options :

1. # 6 months
2. # 12 months
3. % 16 months
4. ¥ 8 months

Question Number : 98 Question Id : 54062624372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT 2 39 & 7T 16000 TUT AW fHU | $© TS TLTd, B 32000 3T Ft AN AR F AIA VIS A1 g1 TG A T H AT HATUIB &
ATH T U HUR: 3: 2 8, T TGN H B, A & A1 fha= Ag - & forg om

Options :

1. % 6 oM

2. % 12HgH

3. % 160

4. ¥ 8 U



Question Number : 99 Question Id : 54062624373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a party hall, there are people in blue and red dresses. The ratio of number of men in blue to the number of women in red is 2 : 5. The ratio of
men in red to the number of women in blue is 3 : 1. If the ratio of number of people in blue to the number of people in red is 41 : 110, then what
is the ratio of number of men to the number of women?

Options :

1. 71 :80
2. % 61:75
3. % 81:103
4. % 67:77

Question Number : 99 Question Id : 54062624373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TSl g1 H, et 7T T1a 1 1 Ui & @R g | =il I 1 UIRNTeh § G| bt TReAT 1 AT W i Uienes § Afganai & wer 4
AT 2 : 5 8 | T W1 H1 UIRMG H T8 b G BT A1t 1 1 G H Afgaratt o1 Teamsfi ¥ ourd 3 : 1 g1 3fe e I 31 Ui &
TN o] TR BT ATE T 1 TIRMD B AN b1 WA H U 41 : 110 &, A T8 1 TeAT T ARGl ol T I SuTd 31 82
Options :

1.¥71:80

2.% 61:75

3. % 81:103

4. % 67:77

Question Number : 100 Question Id : 54062624374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The simple interest received on a certain sum is Rs. 1600 for 5 years. What will be the simple interest on the same sum at the same rate of interest
for 7 years?

Options :

1. ® Rs. 2780
2. ¥ Rs. 2240
3. % Rs. 2540



4. * Rs. 3200

Question Number : 100 Question Id : 54062624374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U YT IR IR 5 98 & FIU U JrURU ST 1600 TYA 8 1 JHM TR TR JHM TS Bl & F 7 T4 & {oIT YR TS fob a1 812

Options :
1. % 2780 30
2. ¥ 2240 3T
3. % 2540 30U
4. % 3200 9
Arithmetic Ability2
Group Number : 6
Group Id : 540626931
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Arithmetic Ability2
Section Id : 5406261178
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20



Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261402
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54062624375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum amounts to Rs. 7986 at the rate of 10 percent per annum on compound interest (compounded annually) after 3 years. What is the sum?
Options :

1. ¥ Rs. 6500

2. % Rs. 6000

3. % Rs. 7000

4. % Rs. 8000

Question Number : 101 Question Id : 54062624375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T R 10 Ufawrd ufaay &t R I 3 a9 91¢ Iehgia s (@Ife T ) TR 7986 T 81 Sl & | IR 31 82

Options :

1. % 6500 30
2. ¥ 6000 TTY
3. % 7000 39U
4. % 8000 ¥TY

Question Number : 102 Question Id : 54062624376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sum of Rs. 10000 is lent for 2 years. Which of the following statement(s) is/are correct?

I. The ratio of compound interest and simple interest at the rate of 20 percent per annum is 11 : 10.
II. The ratio of compound interest and simple interest at the rate of 15 percent per annum is 47 : 40.



Options :

1. % Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II

Question Number : 102 Question Id : 54062624376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10000 ST P T AR &1 2 I8 & forw IR fean mar g1 Fufeafed & 9 o9 918 w1 I8 8/8?

1. 20 Uf=Td ufal I & &R § Ihgfe SIS qT ATYRUT ST &7 ST 11 : 10 §
11 15 Ufa=Td Ui a¥ &1 &R ¥ Iehgfe SISl 4T ATERUT TS BT SUTd 47 : 40 |

Options :

1. ¥ Hadl

2. % Had Il

3. % [qUT el
4. % 1B

Question Number : 103 Question Id : 54062624377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The speed of a train is 40 km/hr. If the length of the train is 350 metre, then how much time train will take to cross a man standing on the
platform?

Options :

1. # 31/60 minutes
2. ¥ 19/26 minutes
3. ¥ 21/40 minutes
4. ¥ 27/50 minutes

Question Number : 103 Question Id : 54062624377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

gﬂﬁﬂg"fﬁﬂﬁmﬁrﬁfa‘a%H%Wﬁ?ﬂéssonﬁa%,ahacwﬁmué@wmﬁwaﬂﬁﬁwmw
0

Options :

1. % 31/60 fiFIC

2. % 19/26 fHAC

3. ¢ 21/40 foFeT

4. % 27/50 e

Question Number : 104 Question Id : 54062624378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man travelled four equal distances of 10 km at the speeds of 7 km/hr, 14 km/hr, 21 km/hr and 28 km/hr respectively. What is his average
speed?

Options :

1. # 348/25 km/hr

2. # 296/25 km/hr

3. ¥ 392/25 km/hr

4. ¥ 336/25 km/hr

Question Number : 104 Question Id : 54062624378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP GV 10 foh. 1. &1 IR THH giRal & A 7 for. i /e, 14 for it /e, 21 for.wit/ader aut 28 fos 1t Aer &t ifd I 70 o g | ST
S{IRTd 1 T 82

Options :

1. % 348/25 fop 1 /&icT
2. % 296/25 fob 1 /&icT
3. % 392/25 fop 1t /&icT
4. ¥ 336/25 T Hl /diet




Question Number : 105 Question Id : 54062624379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When Gopal walk from C to D and return from D to C on cycle, then it takes him 48 minutes. By walking both ways, it takes him 70 minutes. If
he rides cycle both ways, then how much total time he will take?

Options :

1. ¥ 26 minutes
2. # 32 minutes
3. ¥ 22 minutes

4. % 36 minutes

Question Number : 105 Question Id : 54062624379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W€ MU ¢ ¥ D Ued 9UT D T € 9109 ITsford T 3M1aT &, ol I 48 fie T1d 81 g aR% Ued Io IR 39 70 e @vrd g1 afe ag ot
WP Agfbd I S, O I Pl foba=11 T0d T
Options :

1. ¥ 26 T
2. % 3 e
3. % 22 fiFe
4. % 36 e

Question Number : 106 Question Id : 54062624380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arun alone can complete a work in 30 days. 15 percent of the same work will be completed by Arun in how many days?
Options :

1. % 5.2 days

2. ¥ 4.5 days

3. # 5 days

4. % 6 days



Question Number : 106 Question Id : 54062624380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 3fchell Teb 1Y ol 30 f&HT H qRT PR Tehell § | 3R™U1 gIRT T BT 2T 15 Ufai=Id feber faHAT # R fopa s
Options :

1. % 52fcF

2.¢ 454

3. % sfeq

4. % ¢feq

Question Number : 107 Question Id : 54062624381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B alone can complete a work in 12 days and 6 days respectively. A begins to do the work on first day and they work on alternate days one
at a time. In how many days the whole work will be completed?

Options :

1. # 9 days
2. = 7 days
3. ¥ 8 days
4. #= 4 days

Question Number : 107 Question Id : 54062624381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A TUT B 3{hd U BT B HARE: 12 a7 qUT 6 T3 A R IHhd 81 A T8 7 B AT IRY vl § 99T d TRI-IRT ¥ Ueh-Uab foA
B B & | Iyl B fopem & & oR7 8 Sremm?

Options :

1. % 9feq

2. % 7feq

3. ¢ g feA

4. % 4feq




Question Number : 108 Question Id : 54062624382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two pipes A and B alone can fill an empty tank in 40 hours and 60 hours respectively. Pipe C alone can empty that completely filled tank in 48
hours. Firstly both pipes A and B are opened and after 20 hours pipe C is also opened. In how much time tank will be completely filled?

Options :

1. * 32 hours
2. % 30 hours
3. % 28 hours
4. * 24 hours

Question Number : 108 Question Id : 54062624382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QI OIST A TUT B 3l Udh WIelt ¢! bl SHHRT: 40 TS TUT 60 B H WR THhd & | UTSY C bl 39 WYl &0 J 43 g5 <! Bl 48 °e T Wrait
HR GHdl ¢ | I TS GIF1 UTeU A TUT B &1 Wl 79T 9T 20 ©e 1€ Urey € &1 )} Jier 17| et fba aua § 9quf &0 ¥ +R St
Options :

1. % 328C

2. % 30%C

3. ¥ 28%C

4. % 24C

Question Number : 109 Question Id : 54062624383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Area of a square is 6.25 cm?. What is the perimeter of the square?
Options :

1. % 12.5cm

2. % 18 cm

3. % 15cm

4. % 10 cm



Question Number : 109 Question Id : 54062624383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS I &7 &6 6.25 T.H.2 31 97 &1 uRHg Fm 82
Options :

1. % 12,594

2. % 13 9.H.

3. % 153.H.

4.¢ 1094

Question Number : 110 Question Id : 54062624384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A solid sphere of diameter 4.2 cm is cut into two equal halves. What is the increase in the total surface area?
Options :

1. % 36.36 cm?

2. 2772 cm?

3. % 31.31 cm?

4. % 41.14 cm?

Question Number : 110 Question Id : 54062624384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP 4.2 Y. TN 10 31 T D1 & FHH Y & HIel T8 | o I8 8% d | fhd-l dgiasl g5 87

Options :

1. % 36.36 9412
2. 27.72 92
3. % 3131 9.H2
4. % 41.14 QA2

Question Number : 111 Question Id : 54062624385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A metallic sphere is melted and moulded to form conical shaped bullets. If radius of the each bullet is four times of its own height and radius of
each bullet is half of the radius of the metallic sphere, then what is the numbers of bullets formed?

Options :
1. ® 56
2. % 86
3. % 96
4, ¥ 128

Question Number : 111 Question Id : 54062624385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS YTTcdah TIiel &1 FUrarelTaT TR § 4T RIThR el ST o foTe STel 11 § | Afe Ude Tl &1 ot S9! W &1 GdTs &1 aR AT §
TUT IS Tl o BT e Tia &1 Aoar ot ol g, df St 7Tt Tiiferal ot ke o g2

Options :

1. % 56

2. % 86

3. % 96

4.4 128

Question Number : 112 Question Id : 54062624386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct?

I. If side of an equilateral triangle is 8 cm, then its area is 18 \3 cm?.
I1. If perimeter of a square is 20 cm, then its diagonal is 5V2 cm.

Options :

1. * OnlyI

2.9 Only II

3. % BothIandII
4. % Neither I nor II



Question Number : 112 Question Id : 54062624386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ & I/ U9 I8t 8/8?

. Ife U qHETg BYS &t Yo 8 .11, §, ) ITdT 8% d 18 V3 4.t 2 g
I1. 91 T a7 1 afkAmg 20 ¥4, B, 3 591 fawuf sv2 .. 31

Options :

1. % Had 1

2. ¥ Had Il

3. % [ UGl
4. % GBI

Question Number : 113 Question Id : 54062624387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number of cups sold by 6 different shops.

Shops Number of Cups
51 24
52 18
S3 36
sS4 54
55 66
S6 132

What is the average number of cups sold per shop?
Options :

1. ¥ 45

2. % 42

3. % 48



4. = 38

Question Number : 113 Question Id : 54062624387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= & TS IfereT 6 At gl GIRT SR 1T U bl TReAT bl STl B

Eear] FYT Hr GEA
s1 24
S2 18
S3 36
54 54
S5 66
56 T2
Uil g o T FHUT B I AT HT 82
Options :
1. 45
2. % 42
3. % 48
4. % 38

Question Number : 114 Question Id : 54062624388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the price per share of a share on 6 consecutive days of the week.



Days Price of Shares
D1 302
D2 306
D3 308
D4 309
D5 307
D6 311

A person purchased 40 shares on D1 and 60 shares on D2. He sells 30 shares on D3, 20 shares on D4, 40 shares on D5 and 10 shares on D6.
What will be his gain or loss?

Options :

1. * 390 profit
2. % 370 profit
3. % 410 loss
4. % 370 loss

Question Number : 114 Question Id : 54062624388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= & 11 frepT T TR & 6 HHNTA fa1 & Ul IR YUl Y S2ic B

fea SRR & T
D1 302
D2 306
D3 308
D4 309
D5 307
D6 311

U fad D1 T 40 IR TYUT D2 T 60 TR WS 81 98 D3 T 30 VW, D4 T 20 TR, D5 T 40 VIR TUT D6 T 10 TR 9T 8 | ST TTH
37YdT T+ &1 gl

Options :



1. % 390 Y
2. % 370 Y
3. % 410 €T
4. % 370 QI

Question Number : 115 Question Id : 54062624389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The table given below shows the marks scored by 3 students in 5 different subjects. The maximum marks in each subject is 100.

Sttt Marks obtained
Al | A2 | A3 | A4 | AS
S1 68 92 73 | 42| B
52 37 39 99 86 39
S3 53 68 74| 76 | 78

Which of the following statement(s) is/are correct?
I. S3 has socred the maximum total marks.
I1. S2 has scored 68 percent marks overall.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 115 Question Id : 54062624389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I & 173 difreT 3 BT gRT 5 Af fawdl & urd fosu 7w siept ol gmiia 8 1 U fAwa  sifdiedH 3 100 B



e qred 3%
Al | A2 [ A3 | A4 | A5
51 68 | 92 | 73 | 42 | 86
52 37 | 39 | 99 | 86 | 89
53 53 | 68 | 74 | 76 | 78
fofefad & ¥ o I/ U9 I8t 8/8?

I. $3 7 3{frehaH Ha 3 U fhu |
1. S2 7 Ha FHThR 68 Ufa=Id 3idh U fhu B

Options :

1. % PHadl

2. % Had Il

3. % [qUT el
4. I

Question Number : 116 Question Id : 54062624390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the import and exports of a country for 5 consecutive years.

Years | Import | Export

¥1 4180 5240
b 4660 5740
Y3 4320 4900
Y4 4650 5820

Y5 4100 5080

Trade difference = Export — Imports
Trade difference percentage = [Trade difference/Exports] x 100

Which of the following statement(s) is/are correct?
I. Trade difference percentage is highest for Y3.
II. Trade difference is highest for Y3.



Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 116 Question Id : 54062624390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 €t 18 1T 5 T an & e U =1 g1 SATd 94T fafd & =it ]

¥ | g | faatg
Y1 4180 | 5240
Y2 1660 | 5740
Y3 4320 | 4900
Ya 4680 | 5820
Y5 4100 | 5080

MR 3R = fafd - smard
IR 3fd’ Ufaerd = (@R SiaR/Aafd] x 100

fraffed 3 19 918 HuF 98 8780
1. ATUR 37k Ufa=rd Y3 & forw sifipan g |
1. TR 3R Y3 & forw tfdpda g

Options :

1. % Hadl
2. % HAd Il
3. % [ QYT ISl
4. TBIIATR I

Question Number : 117 Question Id : 54062624391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the number of pens in 6 bags.

240

140

120

100

80
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What is the ratio of number of pens in B6 to the number of pens in B3?
Options :

1.¥7:12

2.% 12:5

3.%5:12

4, % 12:7

Question Number : 117 Question Id : 54062624391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 fear T <vs e 6 Al H paH! Bl T Bl AT g |
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Options :
1.¥7:12
2. % 12:5
3.%5:12
4.% 127

Question Number : 118 Question Id : 54062624392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the bowling economy of a bowler in 6 matches.
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Bowling economy of a bowler

M1 M2 M3 M4 M35 M6
Matches

Bowling Economy = Number of runs given/Number of balls thrown
If the number of balls thrown in M4 are 70, then how many runs are given in M4?

Options :
1.+ 119
2. % 139
3. % 143
4. % 113

Question Number : 118 Question Id : 54062624392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ 119

2. % 139

3. % 143

4. % 113

Question Number : 119 Question Id : 54062624393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the number of trucks in 8 shops.
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Number of trucks

J K L M N P Q R
Shops

Which of the following statement(s) is/are not correct?
I. Number of trucks in N are 22.22 percent more than the number of trucks in M.
II. Average number of trucks per shop are 412.5.

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 119 Question Id : 54062624393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ $had |

2. % Had I

3. % QYT gl

4. % qGIIATE I

Question Number : 120 Question Id : 54062624394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the number of sharpeners and pens in 5 shops.



300

—e—Sharpeners —m— Pens

H — Average number of sharpeners per shop
K — Total number of pens and sharpeners in B, C and E
H is what percent of K?

Options :

1. # 37.5 percent
2. ¥ 17.5 percent
3. % 25 percent
4. % 30 percent

Question Number : 120 Question Id : 54062624394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. # 375 Ufa=rd
2. ¥ 17.5 Ufd=d
3. % 25 Ufd=d
4, % 30 gfd=rd
General English1
Group Number : 7
Group Id : 540626932
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General English1

Section Id : 5406261179

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5406261403

Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54062624395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

No matter how sick (1)/ you are, boss wants you (2)/ to come tomorrow. (3)/ No error (4)
Options :

1. * No matter how sick

2. * you are, boss wants you

3. * to come tomorrow.

4. ¥ No Error

Question Number : 121 Question Id : 54062624395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

No matter how sick (1)/ you are, boss wants you (2)/ to come tomorrow. (3)/ No error (4)
Options :

1. # No matter how sick

2. # you are, boss wants you

3. # to come tomorrow.

4. ¥ No Error

Question Number : 122 Question Id : 54062624396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The Mongolian government is (1)/ working hardly to (2)/ protect endangered wildlife. (3) / No error (4)
Options :

1. # The Mongolian government is

2. % working hardly to

3. % protect endangered wildlife.

4. % No Error

Question Number : 122 Question Id : 54062624396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The Mongolian government is (1)/ working hardly to (2)/ protect endangered wildlife. (3) / No error (4)
Options :

1. # The Mongolian government is

2. % working hardly to

3. # protect endangered wildlife.

4. % No Error



Question Number : 123 Question Id : 54062624397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Suddenly, it started (1)/ raining while I stepped (2)/ out of my place. (3)/ No error (4)
Options :

1. # Suddenly, it started

2. ¥ raining while I stepped

3. % out of my place.

4. % No Error

Question Number : 123 Question Id : 54062624397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Suddenly, it started (1)/ raining while I stepped (2)/ out of my place. (3)/ No error (4)
Options :

1. * Suddenly, it started

2. % raining while I stepped

3. # out of my place.

4. % No Error

Question Number : 124 Question Id : 54062624398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Education makes people uppity (1)/ and demand rights, and this (2)/ outrages those on power. (3)/ No error (4)
Options :
1. % Education makes people uppity



2. # and demand rights, and this
3. % outrages those on power.
4. % No Error

Question Number : 124 Question Id : 54062624398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Education makes people uppity (1)/ and demand rights, and this (2)/ outrages those on power. (3)/ No error (4)
Options :

1. * Education makes people uppity

2. % and demand rights, and this

3. ¥ outrages those on power.

4. % No Error

Question Number : 125 Question Id : 54062624399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

India is fifth most (1)/ vulnerable country in terms (2)/ of experiencing extreme weather events. (3)/ No error (4)
Options :

1. ¥ India is fifth most

2. # vulnerable country in terms

3. % of experiencing extreme weather events.

4. % No Error

Question Number : 125 Question Id : 54062624399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.



India is fifth most (1)/ vulnerable country in terms (2)/ of experiencing extreme weather events. (3)/ No error (4)
Options :

1. ¥ India is fifth most

2. # vulnerable country in terms

3. % of experiencing extreme weather events.

4. % No Error

Question Number : 126 Question Id : 54062624400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

I have arranged all the numbers in the ascending order.
Options :

1. # did arranged

2. # has been arranging

3. % were arranging

4. ¥ No Improvement

Question Number : 126 Question Id : 54062624400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

I have arranged all the numbers in the ascending order.
Options :

1. % did arranged

2. # has been arranging

3. # were arranging

4. ¥ No Improvement



Question Number : 127 Question Id : 54062624401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

Either she had never seen him angry or he has cleverly conceal it.
Options :

1. ¥ had cleverly concealed

2. # have concealed cleverly

3. % cleverly did concealed

4. ¥ No Improvement

Question Number : 127 Question Id : 54062624401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

Either she had never seen him angry or he has cleverly conceal it.

Options :

1. % had cleverly concealed
2. % have concealed cleverly
3. #® cleverly did concealed

4. ¥ No Improvement

Question Number : 128 Question Id : 54062624402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

My mother was writing poems since 1993.
Options :



1. #* had written
2. # is writing
3. % has been writing

4. ¥ No Improvement

Question Number : 128 Question Id : 54062624402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

My mother was writing poems since 1993.
Options :

1. % had written

2. % is writing

3. ¥ has been writing

4. ¥ No Improvement

Question Number : 129 Question Id : 54062624403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

We spend much time on home and in our local neighbourhoods.
Options :

1. ¥ spend more time at
2. # are spending most time in
3. % gspent so time at

4. ¥ No Improvement

Question Number : 129 Question Id : 54062624403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

We spend much time on home and in our local neighbourhoods.
Options :

1. ¥ spend more time at
2. # are spending most time in
3. % gspent so time at

4. ¥ No Improvement

Question Number : 130 Question Id : 54062624404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

It would have been more easier if she has separated the words.

Options :

1. % so easier if she has

2. % much easier if she had
3. ® more easy if she has

4. ¥ No Improvement

Question Number : 130 Question Id : 54062624404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

It would have been more easier if she has separated the words.
Options :

1. # so easier if she has

2. % much easier if she had



3. % more easy if she has

4. ¥ No Improvement

Question Number : 131 Question Id : 54062624405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

It’s difficult to the house when people are living in it.
Options :

1. # abominate

2. ¥ refurbish

3. % admire

4. % fancy

Question Number : 131 Question Id : 54062624405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

It’s difficult to the house when people are living in it.
Options :

1. ¥ abominate

2. ¥ refurbish

3. # admire

4. % fancy

Question Number : 132 Question Id : 54062624406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Recent cyclone in the city the properties.



Options :

1. # contrived
2. # staggered
3. % ravaged

4. % extricated

Question Number : 132 Question Id : 54062624406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Recent cyclone in the city the properties.
Options :

1. # contrived

2. # staggered

3. % ravaged

4. % extricated

Question Number : 133 Question Id : 54062624407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

I had up only a few minutes ago.
Options :

1. # waken

2. # wake

3. % woken

4. % awake

Question Number : 133 Question Id : 54062624407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

I had up only a few minutes ago.
Options :

1. % waken

2. % wake

3. ¥ woken

4. % awake

Question Number : 134 Question Id : 54062624408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

I went out the balcony for a little walk.
Options :

1. ¥ onto

2. # into

3. % in

4. % at

Question Number : 134 Question Id : 54062624408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

I went out the balcony for a little walk.
Options :

1. ¥ onto

2. # into

3. % in

4. % at



Question Number : 135 Question Id : 54062624409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

muscle in her body was sore.
Options :
1. ® any
2. ¥ every
3. % little

4. % some

Question Number : 135 Question Id : 54062624409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

muscle in her body was sore.
Options :
1. * any
2. ¥ every
3. # little

4. ¥ some

Question Number : 136 Question Id : 54062624410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

Infection with resistant

P: multiple drugs, which can be

Q: strains requires treatment with

R: health care systems

S: prohibitively expensive for impoverished



Options :

1. # SPQR
2. % QRSP
3. ¥ QPSR
4. % QPRS

Question Number : 136 Question Id : 54062624410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

Infection with resistant

P: multiple drugs, which can be

Q: strains requires treatment with

R: health care systems

S: prohibitively expensive for impoverished

Options :

1. % SPQR
2. % QRSP
3. ¥ QPSR
4. % QPRS

Question Number : 137 Question Id : 54062624411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: a mass medium, cannot reasonably be said
Q: to have existed before the

R: the comic strip, defined as

S: invention of printing

Options :

1. % SRQP

2. % RQPS



3. ¢ RPQS
4. % QSPR

Question Number : 137 Question Id : 54062624411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: a mass medium, cannot reasonably be said
Q: to have existed before the

R: the comic strip, defined as

S: invention of printing

Options :

1. % SRQP

2. % RQPS

3. ¥ RPQS

4. % QSPR

Question Number : 138 Question Id : 54062624412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

Bears do not generally

P: quiet, but they do growl at times when feeding,
Q: communicate by sound and usually are

R: when being challenged by another bear or by
S: humans, and when competing for mates

Options :

1. # RPSQ
2. % QPSR
3. % PSQR
4. ¥ QPRS



Question Number : 138 Question Id : 54062624412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

Bears do not generally

P: quiet, but they do growl at times when feeding,
Q: communicate by sound and usually are

R: when being challenged by another bear or by
S: humans, and when competing for mates

Options :

1. * RPSQ
2. % QPSR
3. ®* PSQR
4. ¥ QPRS

Question Number : 139 Question Id : 54062624413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Organize
Options :

1. * Sterilize
2. * Plagiarize
3. % Disarray
4. ¥ Arrange

Question Number : 139 Question Id : 54062624413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Organize



Options :

1. # Sterilize

2. % Plagiarize
3. % Disarray

4. ¥ Arrange

Question Number : 140 Question Id : 54062624414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Promote
Options :

1. # Discourage
2. ¥ Encourage
3. % Predict

4. ¥ Prototype

Question Number : 140 Question Id : 54062624414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Promote
Options :

1. # Discourage
2. ¥ Encourage
3. % Predict

4. % Prototype

General English2



Group Number : 8

Group Id : 540626933

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General English2

Section Id : 5406261180

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5406261404

Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 54062624415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Earnestly
Options :
1. # Casually

2. % Mendaciously



3. % Verbosely
4. ¥ Artlessly

Question Number : 141 Question Id : 54062624415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Earnestly

Options :

1. # Casually

2. # Mendaciously
3. % Verbosely

4. ¥ Artlessly

Question Number : 142 Question Id : 54062624416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Apologetic
Options :

1. ¥ Rueful

2. % Impenitent
3. # Lugubrious

4. % Dolorous

Question Number : 142 Question Id : 54062624416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Apologetic



Options :

1. # Rueful

2. ¥ Impenitent
3. % Lugubrious

4. % Dolorous

Question Number : 143 Question Id : 54062624417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Aplomb
Options :

1. # Couture
2. # Vainglory
3. % Snob

4. ¥ Diffidence

Question Number : 143 Question Id : 54062624417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Aplomb
Options :

1. # Couture
2. % Vainglory
3. % Snob

4. ¢ Diffidence

Question Number : 144 Question Id : 54062624418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Choose the word that is opposite in meaning to the given word.

Apparent

Options :

1. # Feigned

2. # Specious

3. ¢ Substantiated
4. # Egregious

Question Number : 144 Question Id : 54062624418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Apparent

Options :

1. # Feigned

2. # Specious

3. % Substantiated
4. % Egregious

Question Number : 145 Question Id : 54062624419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Comparision

2. % Compersion

3. % Comparison

4. ¥ Compareson

Question Number : 145 Question Id : 54062624419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Comparision

2. % Compersion

3. ¥ Comparison

4. % Compareson

Question Number : 146 Question Id : 54062624420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Exictence

2. # Ecixstence

3. % Esixtence

4. ¥ Existence

Question Number : 146 Question Id : 54062624420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Exictence

2. # Ecixstence

3. % Esixtence

4. ¥ Existence

Question Number : 147 Question Id : 54062624421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.



Options :

1. # Priveledge
2. ¥ Privilege

3. % Preivelge

4. # Prievelege

Question Number : 147 Question Id : 54062624421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Priveledge

2. ¥ Privilege

3. ® Preivelge

4. % Prievelege

Question Number : 148 Question Id : 54062624422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Mediteranian

2. # Mediteranacan

3. ¥ Mediterranean

4, % Meditarranien

Question Number : 148 Question Id : 54062624422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Mediteranian



2. # Mediteranaean
3. ¥ Mediterranean

4. % Meditarranien

Question Number : 149 Question Id : 54062624423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Keep an eye on

Options :

1. ¥ To watch someone or something carefully
2. % To yearn for something

3. # To collect information about something

4. % To have no vision

Question Number : 149 Question Id : 54062624423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Keep an eye on

Options :

1. ¥ To watch someone or something carefully
2. % To yearn for something

3. # To collect information about something

4. % To have no vision

Question Number : 150 Question Id : 54062624424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.



With open arms

Options :

1. ® To walk in a strange way
2. % To kill without mercy

3. #® With no real affection

4. ¥ A warm or friendly welcome

Question Number : 150 Question Id : 54062624424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

With open arms

Options :

1. #® To walk in a strange way
2. # To kill without mercy

3. % With no real affection

4. ¥ A warm or friendly welcome

Question Number : 151 Question Id : 54062624425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Run of the mill

Options :

1. # To run very quickly

2. % With no special or interesting features
3. # A quick and automatic response

4. ® A foolish and hopeless search

Question Number : 151 Question Id : 54062624425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Run of the mill

Options :

1. % To run very quickly

2. % With no special or interesting features
3. # A quick and automatic response

4. # A foolish and hopeless search

Question Number : 152 Question Id : 54062624426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A person who writes or speaks in many languages
Options :

1. # Linguistic

2. ¥ Polyglot

3. % Deductive

4. ¥ Dialectic

Question Number : 152 Question Id : 54062624426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A person who writes or speaks in many languages
Options :

1. # Linguistic

2. % Polyglot

3. # Deductive

4. % Dialectic



Question Number : 153 Question Id : 54062624427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

That which cannot be heard
Options :

1. # Delible

2. # Delirium

3. % Inaudible

4. # Euphoria

Question Number : 153 Question Id : 54062624427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

That which cannot be heard
Options :

1. # Delible

2. % Delirium

3. % Inaudible

4. # Euphoria

Question Number : 154 Question Id : 54062624428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A person who studies ancient civilizations
Options :
1. % Anthropologist



2. % Historian
3. ¥ Archaeologist
4. # Ethnologist

Question Number : 154 Question Id : 54062624428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A person who studies ancient civilizations
Options :

1. # Anthropologist

2. # Historian

3. ¥ Archaeologist

4. % Ethnologist

Question Number : 155 Question Id : 54062624429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A room directly beneath the roof of a building
Options :

1. % Attic

2. % Cellar

3. % Shed

4. % Basement

Question Number : 155 Question Id : 54062624429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.



A room directly beneath the roof of a building
Options :

1. % Attic

2. % Cellar

3. % Shed

4. % Basement

Sub-Section Number : 2
Sub-Section Id : 5406261405
Question Shuffling Allowed : Yes

Question Id : 54062624430 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)
Read the following information carefully and answer the given questions.

A report of the findings, published recently in Nature, reveals that, contrary to previous studies that say plate tectonics has operated throughout
Earth's history or that it emerged only 0.7 billion years ago, plate tectonics actually evolved over the last 2.5 billion years. This new timeline
impacts researchers' models for understanding how Earth has changed.

Plate tectonics dictates how continents drift apart and come back together, helps explain where volcanoes and earthquakes occur, predicts cycles
of erosion and ocean circulation, and how life on Earth has evolved.

In a bid to resolve the mystery of how and when plate tectonics emerged on Earth, Holder and the research team examined a global compilation
of metamorphic rocks that formed over the past 3 billion years at 564 sites. Metamorphic rocks are rocks that, through the process of being buried
and heated deep in the Earth's crust, have transformed into a new type of rock. Scientists can measure the depth and temperatures at which
metamorphic rocks form, and thereby constrain heat flow at different places in Earth's crust. Because plate tectonics strongly influences heat
flow, ancient metamorphic rocks can be used to study plate tectonics in Earth's past.

The research team compiled data on the temperatures and depths at which the metamorphic rocks formed and then evaluated how these
conditions have changed systematically through geological time. From this, the team found that plate tectonics, as we see it today, developed
gradually over the last 2.5 billion years.

Sub questions

Question Number : 156 Question Id : 54062624431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the reason behind the researchers’ dilemma in understanding how the Earth has changed?
Options :

1. ¥ A new timeline for the evolution of plate tectonics.



2. % Wrong prediction regarding how the Earth has evolved.
3. # Similarities in the study of plate tectonics.

4. ® Wrong compilation of data related to the models of Earth.

Question Number : 157 Question Id : 54062624432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT predicted by plate tectonics?
Options :

1. #® Cycles of erosion

2. % Evolution of life on Earth

3. % Qcean circulation

4. ¥ Outcome of volcanic eruption

Question Number : 158 Question Id : 54062624433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which statement is true regarding the Metamorphic rocks?
Options :

1. # Metamorphic rocks are formed through fossil fuel burning.

2. ¥ They are heated deep inside the Earth’s crust.

3. # Metamorphic rocks have no role in the study of plate tectonics.

4. ® Metamorphic rocks are placed in open area to initiate the process of erosion.

Question Number : 159 Question Id : 54062624434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following words best expresses the true meaning of the word ‘Constrain’?
Options :

1. ¥ Coerce

2. % Convince

3. ® Prevail



4. % Enrapture

Question Number : 160 Question Id : 54062624435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following words best expresses the opposite meaning of the word ‘Predict’?
Options :

1. * Presage

2. % Call

3. ¥ Report

4. * Indict

Question Id : 54062624430 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)
Read the following information carefully and answer the given questions.

A report of the findings, published recently in Nature, reveals that, contrary to previous studies that say plate tectonics has operated throughout
Earth's history or that it emerged only 0.7 billion years ago, plate tectonics actually evolved over the last 2.5 billion years. This new timeline
impacts researchers' models for understanding how Earth has changed.

Plate tectonics dictates how continents drift apart and come back together, helps explain where volcanoes and earthquakes occur, predicts cycles
of erosion and ocean circulation, and how life on Earth has evolved.

In a bid to resolve the mystery of how and when plate tectonics emerged on Earth, Holder and the research team examined a global compilation
of metamorphic rocks that formed over the past 3 billion years at 564 sites. Metamorphic rocks are rocks that, through the process of being buried
and heated deep in the Earth's crust, have transformed into a new type of rock. Scientists can measure the depth and temperatures at which
metamorphic rocks form, and thereby constrain heat flow at different places in Earth's crust. Because plate tectonics strongly influences heat
flow, ancient metamorphic rocks can be used to study plate tectonics in Earth's past.

The research team compiled data on the temperatures and depths at which the metamorphic rocks formed and then evaluated how these
conditions have changed systematically through geological time. From this, the team found that plate tectonics, as we see it today, developed
gradually over the last 2.5 billion years.

Sub questions

Question Number : 156 Question Id : 54062624431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the reason behind the researchers’ dilemma in understanding how the Earth has changed?



Options :

1. ¥ A new timeline for the evolution of plate tectonics.

2. #® Wrong prediction regarding how the Earth has evolved.
3. # Similarities in the study of plate tectonics.

4. ® Wrong compilation of data related to the models of Earth.

Question Number : 157 Question Id : 54062624432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT predicted by plate tectonics?
Options :

1. #® Cycles of erosion

2. % Evolution of life on Earth

3. % QOcean circulation

4. ¥ Outcome of volcanic eruption

Question Number : 158 Question Id : 54062624433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which statement is true regarding the Metamorphic rocks?
Options :

1. ¥ Metamorphic rocks are formed through fossil fuel burning.

2. ¥ They are heated deep inside the Earth’s crust.

3. ¥ Metamorphic rocks have no role in the study of plate tectonics.

4. % Metamorphic rocks are placed in open area to initiate the process of erosion.

Question Number : 159 Question Id : 54062624434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following words best expresses the true meaning of the word ‘Constrain’?
Options :

1. ¥ Coerce

2. % Convince



3. % Prevail

4. % Enrapture

Question Number : 160 Question Id : 54062624435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following words best expresses the opposite meaning of the word ‘Predict’?

Options :

1. * Presage
2. % (Call

3. ¥ Report
4. # Indict
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Number of Questions to be attempted : 20

Section Marks : 20
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Sub-Section Number : 1
Sub-Section Id : 5406261406
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 54062624436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau T a1 # foar J1d HIfoT|
ST UTS Ugdhs Wl |

Options :

1. % HUD
2. ¢ qADITD
3. % GHUD
4. % fgPpti®

Question Number : 161 Question Id : 54062624436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu ¢ It | fobar Jd ST
ST UT6 U Wdl |

Options :

1. % 3HUD
2. ¢ qd@IeIdh
3. % b
4. % fgoptic

Question Number : 162 Question Id : 54062624437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafafad & § S 91 e IS s B2
Options :

1. ® IHXq

2. % 3[R

3. ¥ d[dl

4. % T

Question Number : 162 Question Id : 54062624437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafEd & & 1 9T Weq, 2T Ueg 72
Options :

1. % 3HXq

2. % JdR

3. dIdl

4, % 3™

Question Number : 163 Question Id : 54062624438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraforRea # 9 frg wrsg o I Ul &1 7T g3 7, J1d Hifor|
Options :

1. ¥ 3T

2. % JUPR

3. % 3UHMH

4. % IAE

Question Number : 163 Question Id : 54062624438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fFrafifad & 9§ fobd Trea # I Suwd 1 YA g3l ©, I Hiforg|
Options :

1. 3

2. % JUPR

3. % 3UHMH

4. % IAH

Question Number : 164 Question Id : 54062624439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U U 19T # 3y J1d HIfE|
g 9gd WadT g |

Options :

1. % fqwanfediy®
2. % JUIEIUD
3. ¢ fohar-faRIwom
4. % JGYSIYDH

Question Number : 164 Question Id : 54062624439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu ¢ aru # 31oug I S|

g 9gd Wadl g
Options :

1. ® fqwanfediy®
2. ¥ ATAIYD
3. ¢ fopgr-forivo
4. % JeUNYD




Question Number : 165 Question Id : 54062624440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fT 7T a1~y T FH J1d BT

HUT 3R T TEHTS |
Options :

1. ¢ TQEY TH™

2. % ggdife u™

3. % HHYRY IAN

4. % 3MTUIGH TGEY

Question Number : 165 Question Id : 54062624440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fT T a7y 1 FH 1 DIfSTT |

FHUT 3R a1 TEHT U
Options :

1. ¢ Tg=Y U™

2. % Sgdifg Iuy

3. % HHYRY I

4. % JUIGH dJEY

Question Number : 166 Question Id : 54062624441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faq 7T 2reat 1 HfY 1 BT

3d + ST
Options :



1. ¢ GanTaA
2. % qd A
3. % TOTTE
4, % ¢

Question Number : 166 Question Id : 54062624441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faq 7T wrect 1 HfY 1 BT

od + 3THA

Options :

1. ¢ GaNTHA
2. % CANTHH
3. % TANTHA
4. % GO

Question Number : 167 Question Id : 54062624442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau T a9y | ¥ 3/ fohar 31d feforg|
Options :

1. % ¥R ST T §

2.« ATt 8

3. % JOTHEd PRI H a1 ]

4. % g U7 foradt @

Question Number : 167 Question Id : 54062624442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu U 9T A @ srpHe fobar F1a fHhforu|




Options :

1. # S a1 @]

2.« ATt 8

3. % e PRI H &1 8
4. % Qg oA foradht §

Question Number : 168 Question Id : 54062624443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U TTQ aTet o WA faRIwoT [1d Siferg|
Options :

1. ¢ 39 Al ! Ja13T|

2. % §gd ool 9 TR |

3. % T4 ufg 39 @1 fo|

4. % M HGEIG

Question Number : 168 Question Id : 54062624443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faw U arert & I faRwor 31d S|
Options :

1. ¥ 39 Afdd &l 18T

2. % §gd Yool 59 TS|

3. % T4 fg 39 @ fow |

4. % JMHGIZI

Question Number : 169 Question Id : 54062624444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T Tree} H Qg it T TG BT

Options :



1. % g
2. % AT
3. ¢ Tl

4. % g

Question Number : 169 Question Id : 54062624444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T U T3l H Y Id BT T HIT
Options :

1. ® g

2. % G

3. ¢ gl

4. % g

Question Number : 170 Question Id : 54062624445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 7T Tsg BT UATgaT Weg 10 BT
£l

Options :
1. % g
2. ¢ fagy
3. % 3qd
4. %34

Question Number : 170 Question Id : 54062624445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 7T TsE BT UATgar Wee 31 BT



S
Options :
1. % g
2. ¢ fagy
3. % 3qd
4. %34

Question Number : 171 Question Id : 54062624446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7T a1 & IUYe Teg 1 T B b Nad RIM P gfl B
frzr_quf T Uit ARKER KRG gl gl

Options :

o

1. % 3faery; Iaford
2. % Hdl; Uhc

3. % 7[dlg; Hd

4. WW;W

Question Number : 171 Question Id : 54062624446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3U TTU 916 T IUGa Teg BT 99 IR Rad RIM DI el DI
fepr-qof wep Ut g, foraw T & ura o

Options :

1. % Sfgry; Jdferd
2. % Dhdl; Udhc

3. % [dlg; Hd

4. ® Gﬂq;ﬁﬁﬁa




Question Number : 172 Question Id : 54062624447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau T w1eal H Y I BT TG BRI
Options :

1. v qu

2. % gHY

3. % 9Oy

4. % IOy

Question Number : 172 Question Id : 54062624447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U U reg] B Y kit BT 9 Biforg
Options :

1. v gad

2. % gy

3. % 98y

4. % Uy

Question Number : 173 Question Id : 54062624448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad areaier & folu IId e &1 T I |

TR 3R U= gad BT
Options :

1. % d

2. ¥ g

3. % 9UN

4, % HIHAT




Question Number : 173 Question Id : 54062624448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRad areair & forw IR Wee &1 T i

TR 3R U] gad 1A
Options :

1. * d

2. ¥ gH]

3. % 39Uy

4, % DIHAT

Question Number : 174 Question Id : 54062624449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T Tsg 1 faH Wsg 1A FIfWI

HqTH
Options :

1. # 3HY
2. ¢ fafRry
3. % 3flgd
4. % HJHY

Question Number : 174 Question Id : 54062624449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T TN Wsg T AW Wee I BT

HMHY
Options :



1. % A
2.« Ay

3. % 3MTgd
4. % QU

Question Number : 175 Question Id : 54062624450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T T Woc g 1 e Wsg i 1 BT

3 ; 3fHld
Options :

1. % 3o - foe
2. é;“ﬁ_?f:‘-\"lﬂ

3. ¢ IAIIUD : TG
4, % 3l . dgd

Question Number : 175 Question Id : 54062624450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 77T g T o1 Ta! e T J1d HITOT|
3 - 3Hd

Options :

1. % 31 : fo
2.331%5[:5@
3.%/\31?1@?5:%
4. % 3Hl: dgd

Question Number : 176 Question Id : 54062624451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



foferfad areurw & foe IRId e &1 g7 S|
feTe-fhdra B e B3 ara

Options :

1. % gdem
2. ¢ 3{bed
3. % 3[qllH
4, % Ieifad

Question Number : 176 Question Id : 54062624451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRad areaier & folu I Wee &1 T i |

IESICACGICEINICE TSI
Options :

1. % A&

2. ¢ hED

3. % 3{dclich

4. % JeiRad

Question Number : 177 Question Id : 54062624452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 71T 9Ty 1 ar=d J1d BT |

A7t T SoT TR ST
Options :

1. % HHarA

2. % HdrA

3. % gHHD arA
4. ¢ Yrgarey



Question Number : 177 Question Id : 54062624452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 71T 9Ty 1 ar=d J1d BT |

A7t T SoT TR ST
Options :

1. % HHarA

2. % HdrA

3. % gHHD arA
4. ¢ Y1ddrg

Question Number : 178 Question Id : 54062624453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fw Tu are B I Wt 1 T B Rad ®”iF 3t gfd S|

# IR EIRGEE
Options :

1. % & ferg

2. ¢ Pl

3. %9

4. %

Question Number : 178 Question Id : 54062624453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 7TQ arRr o Iferd IR &1 999 e Rad RIF &t gfd difor|

T IR STET§|
Options :



1. % & forg
2. B
3% 9
4, % I}

Question Number : 179 Question Id : 54062624454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faU 7T are T Ifed 3 T8 &1 99 HRb Rad R &1 il Piorg|

_ O A IR
Options :

1. ® dWRI

2. % GHRT

3. ¢ 3HDI

4, % HUh]

Question Number : 179 Question Id : 54062624454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T U are & I 30 W BT I8 HRoh e I Bi g DifoTg |
U1 Teb fad QRT AT

Options :

1. ® JeRI
2. % gHRI
3. % 3HDI
4, % 3Yh]

Question Number : 180 Question Id : 54062624455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



f3T 7T a1 @1 gl 1 BT
3R g0 THY TR WHT |1 dl §1AR 76 g |

Options :

1. ¢ dparie
2. % Py

3. % d1Hdl

4. % Jurarde

Question Number : 180 Question Id : 54062624455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ 7T arery &1 giy 1 SIS |
TR U Y IR WHT 94 dl d9R a1 8id |
Options :
1. ¢ Yhdidd
2. % Fgpd
3. % 91l
4. % GUIGD

General Hindi2
Group Number : 10
Group Id : 540626935
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



General Hindi2

Section Id : 5406261182
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261407
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 54062624456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FofRad o ¥ DI 1 eg Aol 52
Options :

1. % %o

2. % gd

3. % 49

4. ¢ dq1dc

Question Number : 181 Question Id : 54062624456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed & & o 91 eg wife 52
Options :

1. * Tod

2. % ¢4



3. % 79
4. % d-ldc

Question Number : 182 Question Id : 54062624457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed & & o 1 aTeg Hie 30 ST 3aTevl 82
Options :

1. ¢ §ATS SIcisl! STl g1 |

2. % A TAEI

3. % AT A G @RI G

4. % qui I B

Question Number : 182 Question Id : 54062624457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafead # @ I 1 aTe T gdAT BT IeTexur 2
Options :

1. ¥ geIdls SToiall §=TdT g1 |

2. % I WG

3. % AR A GHE @RI

4. % NI gI@I

Question Number : 183 Question Id : 54062624458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

few e arg @t g J1d P
TRT T STeg] PR &l ATl

Options :
1. % A gad



2. % Iparded
3. % fAfdnde
4. ¢ D

Question Number : 183 Question Id : 54062624458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ 7T arey B gii 1d SIS
BRI DT Sled! B &l Tl

Options :

1. % 9 ga®
2. % Jhardd

3. % ffganie
4. ¥ S

Question Number : 184 Question Id : 54062624459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&T T aTer # | TR a1 1 BT

Options :

1. ¥ M I ggdl g

2. % M & GRIGEIP Ug! STl g

3. % 98 ISP &I IH & gRIUG! St g |

4. % S G¥P UGI TS ©, 98 XM P gRIUGI TS i

Question Number : 184 Question Id : 54062624459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou ¢ arel § T IRd a1y J1d i |

Options :




1. ¥ M I Jgd g |

2. % I &b GRI YEID Ug! Sirct |

3. % 98 ISP &I IH & gRIUG! St g |

4. % S QP UG TS §, 98 XM P gRI UG TTs

Question Number : 185 Question Id : 54062624460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferiRad areil & 9§ Tgad dTe J1d BT |
Options :

1. % I U g T - Q|

2. ¢ I d5! W1 G fobw 98 ! T8 &1 T
3. % S I GHE W1 98 I9P| g8 B UT|

4. % I 98 WHI G Sl YD I8 DT YT

Question Number : 185 Question Id : 54062624460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferiRad areil B 9§ Tgod dTe J1d i
Options :

1. % I Ul g8 DT GHE G|

2. ¢ I I8! W1 WA fobw a8 ! I8 &1 T
3. % S 3G WHT G 98 39! g8 B Y|

4. % I 98 GHE G151 3P| g8 BT T

Question Number : 186 Question Id : 54062624461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad aTerl # U g aTe) b1 99 Bl |

Options :

1. % Perfad SR JH Ugd e T gld Ot 8- Thar A gidl|




2. ¥ B JH Ugd fHd T gid ol BRI 9 A gidl|
3. % qH Ugd Hd TS gidl o 3R IH9H A g
4. % gfe g8 fAre 718 gIdil Al TRT 9 A gl

Question Number : 186 Question Id : 54062624461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad areil B ¥ g aTerd &1 o+ Diforu|

Options :

1. % PHeriad BRI JH Ugd e T gld af 8- Jhar A gidl|
2. ¢ BT JH Ugd e T8 gid ol BRI b9 A gidl|

3. % JH Ugd a8 gidl df ARI JHAH A giaTl

4. % gfe g8 fAre 718 gIdil Al BT T A gl |

Question Number : 187 Question Id : 54062624462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T U o § Iugad faR fomg &1 o H |
A A HEl- I a1 Ja F97 9 3 |

Options :
1LV
2. % ()
3. %
4.%

Question Number : 187 Question Id : 54062624462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T U g § Iugad faR fog &1 o S|
IH A HEl- I a1 Ja F97 9 3 |



Options :
1‘ \."/“”
2.% ()
3%

4. %

Question Number : 188 Question Id : 54062624463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7T a1 § Iuged faR1 forg &1 99+ sifsu|
Iyl Y Bid 81 AR 1A &l

Options :

1. % UHddH
2. % =D
3. % SR
4. ¢ QUifaRTH

Question Number : 188 Question Id : 54062624463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU U 9T’y & Iuged form fag &1 o= iforu|
aui Y= BId g1 AR 1A af

Options :

1. #® UHdldd
2. % =S
3. % g™
4. ¢ JUIfaRTH

Question Number : 189 Question Id : 54062624464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fau U a1y © Iuged form faeg &1 o= iforu

81 98 SIRT AR 47|
Options :

1. % 3feufdv™

2. % JUfaR™

3. % gquq

4. ¢ fowmorfeaiy®

Question Number : 189 Question Id : 54062624464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ 7T gty o Iuged favrH forg &1 o= ifoTg |

BT 98 SART IRT 41|
Options :

1. % 3{eUfarm™

2. % JUfoR™

3. % gUUQ

4. ¢ fowmrfeaiy®

Question Number : 190 Question Id : 54062624465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
& 7T IR 7 fr e TR &1 TR g § Sa! ugar difor|

H fodreh & Try ~ |
Options :

1. % 3@ih

2. ¥ gqUQ

3. % 3T




4. % DIYD

Question Number : 190 Question Id : 54062624465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 70 a1y © for U R 1 faR\ g & S9! ugaH il
H fordTht & 91y A T

Options :

1. % i
2. ¥ BUUG
3. % 3
4. % HIYD

Question Number : 191 Question Id : 54062624466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu U IR fawedl & 9, 39 faded o1 7o 3 ot f3T 7T geTar & 31 &1 a9y ¥U ¥ oJad HRal g |
3 1 foa e

Options :

1. % gRITAEMA

2. ¢ Y HT U &l
3. % Wredd gl

4. % fayrgurdt fom

Question Number : 191 Question Id : 54062624466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad ve ), fou U IR fawedl & ¥, 39 fawen &1 997 & 7 fou U geTak & 31 ol Ya9% U § oJad Rl g |
3t 1 foa e




Options :

1. % GRIFAGH

2. ¢ Y HI UK T
3. % Wredd gl

4. % fayrgurdt fom

Question Number : 192 Question Id : 54062624467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy ), fau U IR faweal & §, 39 fawen &1 997 & 5 fou U geTak & 31 ol Yd9% U § ogad Rl g |

S{UHT Bt YT SFeATUT

Options :

1. % el AT

2. % FSI I YA

3. % OIA1-fOdr &1 &rd g1

4. ¢ JUAT G HEd I8 GIR DI A G-I

Question Number : 192 Question Id : 54062624467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad we , fou 0 oR fawedl & 9, 39 fadmed &1 997 & S fou U geTark & 31 ol Ia9% U I oJad HRdl ¢ |

3701 B AT ST

Options :

1. % Fap! AT

2. % g3l DI AT

3. % OA-Udr &1 &1 g1

4.« 3O Bl HEd 6T GO Pt A AT

Question Number : 193 Question Id : 54062624468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fraferiad ve , fou 0 aR fawedl & 9, 39 fadmen &1 997 & S fou U geTark & 31 ol Ia9% U § oJad HRal ¢ |
T A SFBIG B

Options :

1. % 33T -l
2. ¥ FAfd DA

3. % §gd Ud gl
4. % U HIAT

Question Number : 193 Question Id : 54062624468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue o, fau U IR faweat & ¥, 39 fawen &1 997 & 5 fou U geTak & 31 ol Id9% U § odad Rl g |
TP Y 3FHIG BT

Options :

1. % 33T <l
2. ¢ JAd DA
3. % §gd U9d gl
4. % 3U™Y HAT

Question Number : 194 Question Id : 54062624469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fore arg o farm gl o1 gt TaNT g3 82
Options :

1. % <SiigH, fay ST EuRi g1 - w9

2. % Sfiad - fay 1, GuRi g2 - UNme

3. % Siio 3y, 3 Yufi g1 - UTe

4. ¢ e fay 3 GuRT 517 - UTQ



Question Number : 194 Question Id : 54062624469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fore area o farm gl &1 gt U1 g3 82
Options :

1. % <Siig, fay ST YuRi g1 - w9

2. % Sfiad - fay 1, GuRi g2 - U9me

3. % SiigH {3y, 3 YUl g1 - UTe

4. ¢ e fay B GuRi 517 - UG

Question Number : 195 Question Id : 54062624470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue o, fau U IR faweat & ¥, 39 fawen &1 997 & 5 fou U geTak & 31 ol Id9% U § odad Rl g |

3FA TR URR/TS] TSI
Options :

Question Number : 195 Question Id : 54062624470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad we , fou 0 aR fawedl & 9, 39 fadmed &1 997 & 1 fou U geTak & 3 ol a9% U I oJad HRdl ¢ |

3FA TR URR/TS] TSI
Options :

1. % QAT

2. % 3YI HH HIAl




3. ¢ gfQ U B

4. % fGANT gHAT

Sub-Section Number : 2
Sub-Section Id : 5406261408
Question Shuffling Allowed : Yes

Question Id : 54062624471 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

f3T 7T TR ) YD Ue adT TAD UY & IR fdsbedl § I Tg! fadbed g |

YRd 1 TRE 81 ST fafde fadl o1 wifed iy g1 g 3 &1 URY 1853 $3d! # AuTd & Arevnia § ifiiid fanfaemo Arees 9 a7
ot g | &< S | nifafafial 9¢ W |1 I HEiad & SawR IR WY WR ATedh! &1 UeRiH gidl g g fed! ¥ia & 3fad Ared st
&I U fpar oirar g | &St & Hifeies ATed! &1 3i4Td § | TTHE &t A7 IR fedl aRae! 7 1 foram SRy fohan | Sifirer i oaes, weieR
O e I T B & <) B AR AU G B! YAl & & | HEH! & U & JUTC YdTG! bl B8 a7 WR Y 98 HUEK A1CH el & il
g1 T ACS I8! Bl §, o Ha IR |- Hifay W o 9ap | Fiadr a1 Siitd onfe & Arend O H1ed &1 T 2cht § Tdd o W T DI
AT 1P Tl 81 SiTdil | ATee T U1 fIUNTd TaReU BT § | T8 HeH1 31Ul HAdT & ey I e gid1 g1 3ifYg yexiq, 59 I 3R
ATe® 1 BT AR &1 UG I T A1CH ST ¢ | 31 T ATeH Pt TG Bl 31 a%g B U3t & =4 H g ST Igar1 off Gl ¢ |

BB B TR 1 T HIferd a1 ATedh 3D 0 3R T I H T e e ol 19T g |

Sub questions

Question Number : 196 Question Id : 54062624472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fedl TTHT BT URY D i1 U1
Options :

1. % 1800 34!
2. % 1850 394
3. ¢ 1853 39at
4. % 1508 39al

Question Number : 197 Question Id : 54062624473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
ATcd B WEY Hul gidl 62

Options :

1. % gUic

2. ¢ faymd

3. % arffdd

4. % qfed

Question Number : 198 Question Id : 54062624474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
oy ¥ T ATed g1 a7 62

Options :

1. % 3 verH

2. % HI Il

3. % ACHIY B AR

4. T A

Question Number : 199 Question Id : 54062624475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fgat & o1 ATe! &7 3141 72
Options :

1. % qre-fdarg

2. ¢ TifA®

3. % HI ool

4. % fafay sfagi

Question Number : 200 Question Id : 54062624476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 77U eI FT ITYad MW &1 g2



Options :

1. ¢ Tt T

2. ® Fifgds Il
3. % PY[dY] dlcp
4. % J UG

Question Id : 54062624471 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

f3T TTU TR FT ATYE® UG qUT TP UY & IR fadbedl H 9 ! fadhed g |

YRd 1 038 81 3T fafay ofdl o1 wifed e g1 ) Smei= 1 ure 1853 S8t & urd & Hiewid 7 ifiid faenfaeny: A 4 Jm
St g | &< S & mifafafiat 9¢ W6 |1 1T HEicad o SfawR IR WY WR ATedh! &1 UeRiH gidl ¢ d fed! 3Hd & 3fad Ared Ja-msit
&I U o orar g | i8St & Hifeias ATed! &1 3{HTd § | TTHT &t A7 IR el aae! 7 o foramT SRy fohan | Sifire i oaes, weMieR
I ACd I G B & <) B AR AU G B! YAl &l ¢ | HEH & U & JUTC HATG! Bl B8 o WR Y 8 HUEK] A1CH el o ol
g1 TS el gl 7, o Ha R yfer-Hifa Wa i 9 | wfaar a1 Gifid onfe & Arenw O o1ed &) 99 el J Iqd 1 R i Dl
AT ATedh el g1 Slldl | FATedh T U1 fIUTTd WU BId1 & | T8 Bt YA Hiddl b &Y I T BT 8 | U US=iH, 7 Il 3R
CH I BT IR Bt [T ATCH TAA1 8 | 3fd: T ACH Pt [T B T A% B U1 & 9 A g SH1 UgaHT oI Ihell g |

BB B TR g1 Al T e 30D T SR T <=1 H ThH T g Il 1@l 5 |

Sub questions

Question Number : 196 Question Id : 54062624472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fedl ST 1 URY B g3 Ul
Options :

1. % 1800 34T

2. % 1850 394!

3. ¢ 1853 3941

4. % 1508 3qat

Question Number : 197 Question Id : 54062624473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
ATcd B WEY Hul gidl 62

Options :

1. % gUic

2. ¢ faymd

3. % arffdd

4. % qfed

Question Number : 198 Question Id : 54062624474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
oy ¥ T ATed g1 a7 62

Options :

1. % 3 verH

2. % HI Il

3. % ACHIY B AR

4. T A

Question Number : 199 Question Id : 54062624475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fgat & o1 ATe! &7 3141 72
Options :

1. % qre-fdarg

2. ¢ TifA®

3. % HI ool

4. % fafay sfagi

Question Number : 200 Question Id : 54062624476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 77U eI FT ITYad MW &1 g2



Options :

1. ¢ Tt T

2. % g Il
3. ® DYAIJ dlch

4, % JTAGIHT



